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Q1) A) Fill in the blanks (Any Five): [5]

a) ______  Accounting focuses on providing information to take internal
decisions.

b) ______ Costing method, assumes that all units produced during a
period have same cost per unit.

c) Sum total of all Current Assets is known as ______.

d) ______ Statement is prepared to analyze company’s financial
structure (cash flow or fund flow).

e) ______ Statement shows uses and sources of fund (cash flow or
fund flow).

f) ______ Budget is prepared to estimate the number of units to be
produced.

g) EPS stands for ___________.

B) State whether the following statement is True or False (Any Five): [5]

a) Sales Commission is not a part of product cost.

b) Contribution is the difference between sales and variable cost.

c) Redemption of bonds is considered as cash outflow from financing
activities.
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d) Reserves and Surplus is a component of equity shareholders funds.

e) Preliminary expenses are to be considered as fictitious assets.

f) Quick ratio is also known as acid test ratio.

g) A company’s financial leverage is measured using ‘debt equity ratio’.

Q2) Attempt any Five from the following: [25]

a) Explain the limitations of Management Accounting.

b) What are the benefits of fund flow statement?

c) Prepare format of cash flow statement (Direct or Indirect)

d) What do you mean by Break Even Analysis?

e) Discuss the benefits of Marginal Costing.

f) What are the advantages of Cash Flow Statement?

g) Write short notes on Profitability Ratios.

OR

a) Following are the balance sheets of ‘X’ Company Ltd. as on 31st March.[10]

Balance sheet as on 31st March ...

Liabilities 2022 2023 Assets 2022 2023

(Rs.) (Rs.) (Rs.) (Rs.)

Equity Share Capital 3,50,000 4,00,000 Land 3,50,000 3,50,000

Retained Earnings 1,50,000 1,80,000 Furniture 2,00,000 2,25,000

Bank Term Loans 1,40,000 1,00,000 Inventory 1,24,000 1,60,000

Bank Overdraft 1,26,000 1,00,000 S. Debtors 1,00,000 1,20,000

Bills Payable 90,000 1,20,000 Cash 82,000 45,000

8,56,000 9,00,000 8,56,000 9,00,000

Prepare Comparative balance sheet from the above data.
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b) Following is the balance sheet of XYZ Company Ltd. as on 31st March
2023 [15]

Balance sheet as on 31st March ....

Liabilities Rs. Assets Rs.

Share Capital 5,00,000 Land & Building 6,00,000

Reserves 1,50,000 Plant & Machinery 2,07,000

8% Debentures 2,30,000 Furniture 92,000

Long term liabilities 1,14,000 Sundry Debtors 1,24,000

Bank Overdraft 1,26,000 Stock 1,10,000

Sundry Creditors 92,000 Cash & Bank Balance 85,000

Income Tax Payable 18,000 Prepaid Expenses 12,000

12,30,000 12,30,000

From the above balance sheet, Calculate:

i) Current Ratio

ii) Liquid Ratio

iii) Debt-Equity Ratio

iv) Fixed Asset to Working Capital Ratio

v) Total Asset to Shareholders Fund Ratio

Q3) Attempt any Five from the following: [25]

a) Explain the Functions of Management Accounting.

b) Write a short note on Zero Base Budgeting.

c) Write a note on Limitations of Management Accounting.

d) Differentiate between Common size and comparative statements.

e) Differentiate between cash flow and fund flow statement.

f) State the advantages and limitations of Trend Analysis.

g) Explain different types of Working Capital?

OR
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a) C Ltd. provides you with the following information. [10]

Total Sales - Rs. 2,00,000 ; Variable cost - Rs. 1,20,000 ;

Fixed cost - Rs.30,000

You are required to calculate:

i) Profit Volume Ratio

ii) Break Even Sales

iii) Margin of Safety

iv) Profit when sales are Rs.3,60,000

b) Prepare a flexible budget for overheads at 70% and 90% capacity from
the following available data (at 60% capacity). [15]

Variable overheads: At 60% capacity (Rs.)

Material 18,000

Labour 6,000

Semi-variable overheads:

Electricity: 40% Fixed 30,000

Repairs: 20% Variable 3,000

Fixed overheads:

Depreciation 16,000

Insurance 4,000

Salaries 16,000

Q4) Write Short Notes (Any Two): [10]

a) Solvency Ratio.

b) Cost Accounting.

c) Analysis of Financial Statement.

d) Cash Flow Statement.


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Q1) A) Attempt any five out of seven from the following. [5×1=5]
i) What are the means by which long-term objectives will be achieved?

a) Strategies b) Policies
c) Strength d) Opportunities

ii) Marketing strategy is a______ type of strategy.
a) business level b) Growth strategy
c) corporate strategy d) Functional strategy

iii) Buying another company by one company means.
a) Joint venture b) Acquisition
c) Amalgamation d) Merger

iv) Strategic Management handles.
a) external issues b) Management issues
c) internal issues d) administrational issues

v) Industrial economics is that branch of ______
a) Micro Economics b) Macro Economics
c) Business Economics d) Indian Economics

vi) Industrialisation has major role to play in the economic development
of the_______
a) Underdevelopment countries
b) Backward Countries
c) Developing Countries
d) Developed Countries

vii) Raw material productivity can be increased by_______
a) Proper choice of design b) Reuse of Material
c) Scrap Control d) All of the above
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B) Match the following. [5]
Group A Group B

i) Corporate Level a) Michael Porter
ii) Value chain analysis b) Resources Analysis
iii) Financial Resources c) Vision Statement
iv) Mission Statement d) Performance benchmarking
v) Benchmarking e) Levels of Strategy

Q2) Attempt any Four from the following. [20]
a) Explain the Strategic Management Process.
b) Explain the concept of Resource Analysis in Detail.
c) What is a Management Information System (MIS)?
d) Write a short note on productive efficiency.
e) Write short notes on American Depository Receipts (ADR).
f) Describe the Levels of strategy.

Q3) Attempt any Four from the following. [20]
a) Explain the role of the Board of Directors in strategic Management.
b) Explain in detail the Mission statement.
c) State the term Corporate Social Responsibility.
d) Describe the Adaptive approach in Strategic Management Process.
e) Describe the concept of the Organizational life cycle.
f) Explain in detail the stability strategy.

Q4) Attempt any Two from the following. [20]
a) Discuss the functioning of private and public sector banks in the area of

industrial finance.
b) Explain in detail the Concept of Corporate Governance.
c) Explain Deming’s Fourteen Points of Quality Management.
d) Critically analyse Alfred Weber’s theory of industrial location.


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à.à.à.à.à.1) A) Imbrb àíZm§Zm ¶mo½¶ n¶m©¶ Xçm. [5×1=5]
i) H$moUË¶m àH$mao XrK©H$mbrZ CÔrï>o gmÜ¶ Ho$br OmVmV?

A) ì¶yhaMZm ~) YmoaUo
H$) gm‘Ï¶© S>) g§Yr

ii) {dnUZ ì¶yhaMZm ........... àH$maMr ì¶yhaMZm Amho.
A) ì¶dgm¶ nmVir ~) dmT> nmVir
H$) ì¶mdgm{¶H$ YmoaU S>) H$m¶m©Ë‘H$ ì¶yhaMZm

iii) EH$m H§$nZrÛmao Xþgar H§$nZr IaoXr H$aUo åhUOo.
A) g§¶wº$ ñH§$X‘§S>i ~) g§nmXZ H$aUo
H$) EH$ÌrH$aU S>) {dbrZrH$aU

iv) ............ ì¶yhaMZmË‘H$ ì¶dñWmnZ hmVmiVo.
A) ~mø g‘ñ¶m ~) ì¶dñWmnH$s¶ g‘ñ¶m
H$) A§VJ©V g‘ñ¶m S>) àemgH$s¶ g‘ñ¶m

v) Am¡Úmo{JH$ AW©emñÌ hr ................ Mr emIm Amho.
A) gyú‘ AW©emñÌ ~) g‘J«bjr AW©emñÌ
H$) ì¶dgm¶ AW©emñÌ S>) ^maVr¶ AW©emñÌ

vi) ............ Xoem§À¶m Am{W©H$ {dH$mgmV Am¡Úmo{JH$sH$aUmMr ‘moR>r ŷ{‘H$m Amho.
A) A{dH${gV ~) ‘mJmgboë¶m
H$) {dH$gZerb S>) {dH$grV

vii) H$À¶m ‘mbmMr CËnmXH$Vm .............. Zo dmT>dVm ¶oVo.
A) {S>PmBZMr ¶mo½¶ {ZdS> ~) gm{hË¶mMm nwZdm©na
H$) dñVy {Z¶§ÌU S>) darb gd©
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~) ¶mo½¶ OmoS>çm Owidm. [5]
JQ> A JQ> ~

i) H$m°nm}aoQ> ñVa A) ‘m¶Ho$b nmoQ>©a

ii) ‘yë¶ gmIir {díbofU ~) g§gmYZ {díbofU

iii) {dÎmr¶ g§gmYZo H$) XÿaÑï>r dm³¶

iv) Ü¶o¶ dm³¶ S>) H$m‘{Jar ~|M ‘m{Hª$J

v) ~|M ‘m{Hª$J B) ì¶yhaMZoMo ñVa

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao Xçm. [20]
A) YmoaUmË‘H$ ì¶dñWmnZ à{H«$¶m ñnï> H$am.

~) g§gmYZ {díbofUmMr g§H$ënZm Vnerbdma gm§Jm.

H$) ì¶dñWmnZ ‘m{hVr àUmbr (MIS) åhUOo H$m¶?

S>) CËnmXH$ H$m¶©j‘Voda EH$ N>moQ>r Q>rn {bhm.

B) A‘o[aH$Z {S>nm°{PQ>ar [agrQ²>g (ADR) da Q>rn {bhm.

’$) ì¶yìhaMZoÀ¶m ñVam§Mo dU©Z H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao Xçm. [20]
A) YmoaUmË‘H$ ì¶dñWmnZm‘Yrb g§MmbH$ ‘§S>imMr ŷ{‘H$m ñnîQ> H$am.

~) Ü¶o¶ dm³¶mMo Vnerbdma dU©Z H$am.

H$) ì¶dgm¶mMr gm‘m{OH$ O~m~Xmar hr g§H$ënZm ñnï> H$am.

S>) ì¶yìhaMZm ì¶dñWmnZ à{H«$¶oVrb AZwHy$b Ñ{ï>H$moZmMo dU©Z H$am.

B) g§ñWmË‘H$ OrdZ MH«$mÀ¶m g§H$ënZoMo dU©Z H$am.

’$) pñWaVm ì¶yìhaMZoMo/YmoaUmMo Vnerbdma dU©Z H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao Xçm. [20]
A) Am¡Úmo{JH$ {dÎm joÌmV ImOJr Am{U gmd©O{ZH$ joÌmVrb ~±H$m§À¶m H$m¶m©Mr MMm© H$am.

~) H$m°nm}aoQ> JìhZ©Ýg hr g§H$ënZm g{dñVanUo gm§Jm.

H$) S>oq‘JMo JwUdÎmm ì¶dñWmnZmMo Mm¡Xm ‘wÔo ñnï> H$am.

S>) Amë’«o$S> do~aÀ¶m Am¡Úmoo{JH$ ñWmZmÀ¶m {gÕm§VmMo g{dñVanUo {díbofU H$am.


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Q1) A) Attempt any Five from the following : [5]

i) An orderly set of data arranged in accordance with their time of
occurrence is called :

a) Arithmetic series b) Harmonic series

c) Geometric series d) Time series

ii) Secular trend can be measured by :

a) Two methods b) Three methods

c) Four methods d) Five methods

iii) If the mean and variance of binominal distribution are 5 and 4,
respectively, the value of n is :

a) 25 b) 10

c) 15 d) 20

iv) Which of the following is not a major element of the strategic
management process?

a) Formulation strategy b) Implementing strategy

c) Evaluating strategy d) Assigning administrative tasks

v) The primary focus of strategic management is

a) Strategic analysis b) The total organisation

c) Strategy formulation d) None

Total No. of Questions : 4]
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vi) Strategic Management handles

a) External issues b) Administrational issues

c) Internal issues d) Management issues

vii) The word tactics is most likely to be associated with

a) Business strategy b) Corporate strategy

c) Operational strategy d) All of the above

B) Match the following : [5]

Group A Group B

i) Height of individuals in a population a) Normal distribution

ii) Daily sales of retail store b) Weibull distribution

iii) Lifetimes of electronic devices before c) Exponential distribution

they fail

iv) Number of defects in a production line d) Poisson distribution

v) Strength weakness opportunities e) SWOT

and threats

Q2) Attempt any Four from the following : [20]

a) Write a difference between Business Strategy and Military Strategy.

b) Write down steps of strategic planning.

c) Write a short note on Mass Customization.

d) How will you measure cyclical effect?

e) Explain discrete probability distribution.

f) What are the characteristics of normal distribution?

Q3) Attempt any Four from the following : [20]

a) Differentiate between simple and composite hypothesis.

b) What are the ways to measure irregular variation?

c) Explain the techniques of assigning probabilities.

d) Write a short note on product mix.

e) Explain the advantages of strategic planning.

f) Write a short note on six sigma.
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Q4) Attempt any Two from the following : [20]

a) Describe the different strategies for industry leaders.

b) Define Strategic Planning? Explain the advantages and limitations of
strategic planning.

c) Define Joint, Marginal and conditional distributions.

d) Explain chi-square test of “goodness of fit”.


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Q1) A) Fill in the blanks (Any 5) : [5]

a) The concept under which one can sell goods to himself is called
________.

i) Dual Aspect ii) Money Measurement

iii) Business Entity iv) Realization

b) GST stands for __________.

i) Goods and Sales Tax

ii) Goods and Services Tax

iii) Goods as well as State Tax

iv) None of the above

c) ________ is not a method of calculating Purchase Consideration.

i) Net Asset Method

ii) Direct Ascertainment Method

iii) Net Payment Method

iv) Super Profit Method

d) In the Statement of Affairs _______ consists of unsecured creditors.

i) List A ii) List C

iii) List D iv) List E

Total No. of Questions : 4]
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e) The term ___________ means taking over the business of two or
more companies by a company newly formed.

i) Amalgamation ii) External Reconstruction

iii) Absorption iv) Internal Reconstruction

f) _______________ is a liability which may or may not happen.

i) Current Liability ii) Contingent Liability

iii) Short Term Liability iv) None of the above

B) State whether following statements is True or False. (Any 5) [5]

a) Liquidations means winding up of a company.

b) The term Absorption means taking over of the business of one or
more companies by a company already in existence.

c) IFRS stands for Indian Financial Reporting Standards.

d) AS -13 deals with Cash Flow Statement.

e) Goodwill is an Intangible Asset.

f) Purchase Consideration is the amount payable by the vendor
company to the purchasing company.

Q2) Attempt any 4 questions from the following. [20]

a) What are the different Accounting Concepts?

b) Calculate the liquidator’s total remuneration using following data: The
liquidator is entitled to fixed remuneration of Rs.1000 plus 3% of the
assets realized by him only.

Stock of raw materials realized by bank Rs. 30,000 Stock of finish goods
Rs. 80,000, and other assets Rs. 20,000.

c) Write short note on AS-15

d) From the following information relating to Adani Ltd. Compute the
net asset value of shares as per the net asset value method. 1000
equity shares of Rs. 100 each fully paid up Rs.1,00,000. total net
assets Rs. 1,10,000 Investments 10,000 and. Goodwill Rs. 30,000.

e) What is the GST Tax Structure in India?

f) What are the objectives of Accounting Standards?
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Q3) Attempt any 4 questions from the following. [20]

a) What are the advantages of GST?

b) From the following information calculate the amount of purchase
consideration.
Liabilities Rs. 50,000, debentures Rs. 25,000, current assets Rs 50,000
and Fixed assets Rs 1,50,000.

c) State the disadvantages of cost plus contract costing.

d) Discuss the meaning and objectives of IFRS.

e) Write a short note on Amalgamation Scheme.

f) Explain the different methods of calculating Purchase Consideration.

Q4) Attempt any 2 questions from the following. [20]

a) Explain in detail the methods of valuation of shares?

b) X Ltd. went into voluntary liquidation. The following are the details :

Assets Realized Rs.80,000 Liquidators' remuneration Rs. 10,000,
Unsecured Creditors Rs. 34,000. Preference Share Capital is Rs. 34,000.
Equity Share Capital consist of : 1000 shares of Rs. 2 each.

You are required to prepare the “Liquidators Final Statement of Account.”

c) Discuss the salient features of AS-12 Accounting for Government Grants.

d) Explain the provisions related to registration under GST Act.

m
unote

s.i
n



Q1) Attempt any Five out of Seven from the following  : [5 × 2 = 10]

a) Write four major types of systems.

b) Define E - commerce.

c) Write any four benefits of EDI.

d) What do you mean by digital signature?

e) What are the types of computer crimes?

f) What is computer virus?

g) What is meant by E - Governance?

Q2) Attempt any Four out of Six from the following : [4 × 5 = 20]

a) Explain the components necessary for an information system.

b) What are the advantages and disadvantages of e-commerce?

c) Explain the basic components of E-SCM.

d) Distinguish between Internet & Extranet.

e) What are functions of digital signature?

f) State the composition of Cyber Appellate Tribunal.

Total No. of Questions : 4]
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Q3) Attempt any Four out of Six from the following : [4 × 5 = 20]

a) What are the advantages of having a transaction processing system?

b) Explain the need and scope of Electronic Data Interchange (EDI).

c) Explain different types of attacks on computer system?

d) What are the advantages of an antivirus software?

e) Explain the need of Cyber Laws & Cyber Security.

f) State the objectives of India Penal Code Act?

Q4) Attempt any Two out of Four from the following : [2 × 10 = 20]

a) 'E-commerce does not change some fundamental rules of Banking.'
Explain.

b) Elaborate the significance of Information Technology Act,2000. Support
your answer giving appropriate example.

c) Describe briefly about information system and its components required
is an organisation.

d) What is E-cash? Explain the working of e-cash in detail?


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P-4499

àíZ àíZ àíZ àíZ àíZ 1)  Imbrb gmV n¡H$r H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) Mma à‘wI àH$maÀ`m àUmbr {bhm.

~) B©-H$m°‘g©Mr ì¶m»¶m {bhm>.

H$) Bbo³Q´>m°{ZH$ S>oQ>m B§Q>aM|O> (B©.{S.>Am¶.) Mo H$moUVohr Mma ’$m¶Xo [bhm.

S>) {S>{OQ>b ñdmjar åhUOo H$m¶?

B) g§JUH$ JwwÝhçmMo àH$ma {bhm.

\$) g§JUH$ ìhm¶ag åhUOo H$m¶?

`) B©-emgZ åhUOo H$m¶?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb ghm n¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) ‘m{hVr àUmbr gmR>r JaOoMo KQ>H$ gm§Jm.

~) B©-H$m°‘g©Mo ’$m¶Xo d VmoQ>o gm§Jm.

H$) B©-Eg.gr.E_. (E - SCM) Mo ‘wb ŷV KQ>H$ gm§Jm.

S>) B§Q>aZooQ> Am{U E³ñQ´>mZoQ> ¶m§À¶mVrb ’$aH$ ñnï> H$am.

B) {S>{OQ>b ñdmjarMo H$m¶} ñnï> H$am.

\$) gm¶~a A{nboQ> {Q´>ã¶wZb aMZm ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb ghm n¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) ì¶dhma àH$ma àUmbr (TPS) Agë¶mMo H$moUVo ’$m¶Xo AmhoV?

~) Bbo³Q´>m°{ZH$ S>mQ>m B§Q>aM|O (EDI) Mr JaO Am{U ì¶már ñnï> H$am.

H$) g§JUH$ àUmbr darb hëë¶mMo {d{dY àH$ma gm§Jm.

S>) A°ÝQ>rìhm¶ag gm°°âQ>doAa ’$m¶Xo H$m¶ AmhoV Vo gm§Jm.

B) gm¶~a H$m¶Xo Am{U gm¶~a gwajmMr JaO ñnï> H$am.

\$) ^maVr¶ X§S> g§[hVm H$m¶ÚmMo CÔoe gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb Mma n¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) "B©-H$m°‘g© ~§H$sJMo H$mhr ‘wb ŷV {Z¶‘ ~XbV Zmhr'. ñnï> H$am.

~) ‘m{hVr V§ÌkmZ H$m¶Xm, 2000 Mo ‘hÎd {dñV¥V H$am. ¶mo½¶ CXmhaU XoD$Z Vw‘À¶m CÎmamMo
g‘W©Z H$am.

H$) g§ñWo‘Ü¶o Amdí¶H$ ‘m{hVr àUmbr Am{U Ë¶mVrb KQ>H$m§Mo WmoS>³¶mV dU©Z H$am.

S>) B©-H°$e åhUOo H$m¶? B©-H°$eÀ¶m H$m¶m©Mo Vn{ebdma dU©Z H$am.


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Q1) Attempt any Five out of seven from the following : [5 × 2 = 10]

a) Define the term Cost Accounting.

b) What is indirect labour cost?

c) What do you mean by Overheads?

d) Define the term Escalation Clause.

e) Define the term Integral accounts

f) Mention the four steps in the process of life cycle costing.

g) What is Target Costing?

Q2) Attempt any Four out of six from the following : [4 × 5 = 20]

a) Explain the objectives of cost accounting

b) What are the Essential Characteristics of Process Costing?

c) What are the Objectives of Departmentalization of overheads?

d) Material of XYZ are used as follows:

Minimum usage 60 units per week

Maximum usage 160 units per week

Normal usage 150 units per week

Re-order quantity = 620 units

Delivery period = 6 to 8 weeks

Calculate Reorder level, Minimum level and Maximum level.
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e) From the following data given by the Personnel Department, calculate
the labour turnover rate by applying :

i) Separation method

ii) Replacement method

iii) Flux method

No. of workers on the payroll:

• At the beginning of the month 1,800

• At the end of the month 2,200

During the month, 10 workers left, 40 persons were discharged and
150 workers were recruited. Of these, 25 workers are recruited in the
vacancies of those leaving, while the rest were engaged for an expansion
scheme.

f) Smital Electronics Ltd., Nasik, has three Production Depts.
Viz. Assembly, Cutting and Mixing, and two Service Depts. Viz.
Transport and Power. The following are the total overhead expenses
as per departmental distribution summary for the month of march,
2022.

A) Production Depts,: B) Service Depts,:

Assembly - 2,000 Transport - 760

Cutting - 2,500 Power - 700

Mixing - 3,000

The expenses of the Service Depts. are charged out on a percentage
basis as follows :

Particulars Assembly Cutting Mixing Transport Power

Service Dept. 30% 30% 30% - 10%

Transport

Service Dept. 20% 20% 30% 30% -

Power

Prepare a Statement showing the apportionment of Service Dept.
expenses to Production Dept. by Simultaneous Equation Method.
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Q3) Attempt any Four out of six from the following : [4 × 5 = 20]

a) What are the essential Feature of integrated system of accounting?

b) Explain Advantages of Process Costing

c) Write a short note on Activity Based Costing (ABC)

d) The following information is given in respect of process A.

Material Rs-l,000 kgs @ 6 per kg

Labour Rs-5,000 Direct expenses Rs-l,000

Indirect expenses allocated to Process A Rs-1,000

Normal wastage 10% of input

Prepare Process A Account when scrap value of normal loss is nil

e) The following transactions have been extracted from the books of a
company. You are required to make journal entries under (Integrated
accounts)

i) Purchases of raw materials on cash Rs-2,00,000

ii) Carriage inward Rs-2,500

iii) Stores issued Rs-2,50,000

iv) Productive wages paid Rs-2,04,000

v) Unproductive wages paid Rs-72,000

f) The following information relates to Material No. 1002 the year
2021-22 :

Opening stock Rs-25,000

Closing stock Rs-15,000

Purchases Rs-1,90,000

Calculate stock turnover ratio of Material No. 1002 and give your
comments.
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Q4) Attempt any Two out of four from the following : [2 × 10 = 20]
a) Prepare a Statement of Cost from the following information relating to

Bajaj Traders, Pune for the year ended 31st March 2023.

Cost of Direct Materials 2,00,000

Sales 4,00,000

Direct Wages 1,00,000

Office Indirect Materials 5,000

Cost of special patterns 40,000

Postage and Telegrams 2,000

Factory Rent and Insurance 5,000

Outstanding Chargeable Expenses 2,000

Carriage Outward 2,500

Interest on Loan 2,150

Printing and Stationery 500

Factory Indirect wages 3,000

Selling on cost 4,000

Travelling salesman’s salary 4,000

Factory Indirect Material 1,000

Royalties 8,000

General works overheads 2,000

Bad debts written-off 1,000

b) Suyog Construction Bherdapur undertook a contract No. 54 for
Rs. 4,00,000 on 1st April 2022. They incurred the following expenses
during the year 2022-2023.

Materials issued from stores 36,600

Materials transferred from Contract No. 45 3,400

Material directly purchased for the Contract 10,000

Materials in hand on site 2,500

Plant issued for contract 20,000

Wages paid directly 70,000

Architects Fees 3,000

Wages due but not paid 1,000

Direct expenses outstanding 600

Cash received from contractee 1,44,000

Work Certified 1,80,000

Cost of Work uncertified 1,500
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Of the Plant and Materials charged to contract. Plant costing Rs. 4,000
and Materials costing Rs. 3,000 were lost. On 31-03-2022 Plant costing
Rs 3,000 was returned to stores. Charge depreciation on plant @ 15 %
p.a. as per written down value method.

Prepare Contract Account for the year ended 31-03-2023.

c) Examine types of individual incentive plans.

d) Define product life cycle. Explain different phases of product life cycle.


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Q1) Define the following terms (any 5) [10]
a) What is NABARD?

b) What is NCDC?

c) What is Economic Decentralization?

d) Capitalism

e) Communism

f) Organizational Structure of Co-operatives

g) Define cooperation

Q2) Write a Short Notes (any 4) [20]
a) What is Section 27 of the Maharashtra Co-operative Societies Act?

b) What is the Maharashtra State Co-operative Appellate Court under Section
149?

c) What is the procedure followed in the decision making process of a
co-operative department?

d) What is co-operation?

e) Advantages of Co-operatives in India

f ) Write a short-note on the co-operative movement in Israel.
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Q3) Short Answer Questions (any 4) [20]
a) List the main objectives of the National Policy on Co-operatives.
b) What is the role of a Co-operative Vigilance Office?
c) What was the main objective of the first Narasimham Committee?
d) State the role of the International Labour Organization (ILO) in regard to

cooperatives
e) When did the co-operative movement began.
f) Why were co-operatives successful in China?

Q4) Long Answer Questions (Any 2) [20]
a) Examine some of the problems faced by co-operatives.
b) Discuss the development of the co-operative movement in the United

States.
c) Describe the organization and the objectives of NCHF.
d) Explain the powers of the Registrar in detail.


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P-4501

àíZ 1) Imbrb g§km n[a^m{fV H$am. (H$moUË¶mhr 5) [10]
A) Zm~mS>© åhUOo H$m¶?

~) NCDC åhUOo H$m¶?

H$) Am{W©H$ {dH|$ÐrH$aU åhUOo H$m¶?

S>) ^m§S>dbemhr

B) gmå¶dmX

\$) ghH$mar g§ñWm§Mr g§KQ>ZmË‘H$ aMZm

`) ghmH$mamMr ì¶m»¶m H$am.

àíZ 2) Q>rnm {bhm. (H$moUË¶mhr Mma) [20]
A) ‘hmamï´> ghH$mar g§ñWm A{Y{Z¶‘mMo H$b‘ 27 H$m¶ Amho?

~) H$b‘ 149 AÝd¶o ‘hmamï´> amÁ¶ ghH$mar Anrbr¶ Ý¶m¶mb¶ H$m¶ Amho?

H$) ghH$ma {d^mJmÀ¶m {ZU©¶ à{H«$¶oV H$moUVr à{H«$¶m Adb§~br OmVo?

S>) ghH$ma åhUOo H$m¶?

B) ^maVmVrb ghH$mar g§ñWm§Mo ’$m¶Xo

\$) Bòm¶b‘Yrb ghH$mar Midirda Q>rn {bhm.

P.T.O.
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àíZ 3) bKwÎmar àíZ H$moUVohr Mma gmoS>dm. [20]

A) ghH$ma{df¶H$ amï´>r¶ YmoaUmMr ‘w»¶ C{Ôï>o gyMr~Õ H$am.

~) ghH$mar XjVm H$m¶m©b¶mMr ŷ{‘H$m H$m¶ AgVo?

H$) n{hë¶m Zaqgh‘ g{‘VrMo ‘w»¶ C{Ôï> H$m¶ hmoVo?

S>) ghH$mar g§ñWm§~m~V Am§Vaamï´>r¶ H$m‘Jma g§KQ>Zm (ILO) Mr ŷ{‘H$m gm§Jm.

B) ghH$ma Midi H$Yr gwê$ Pmbr?

\$) MrZ‘Ü¶o ghH$mar g§ñWm ¶eñdr H$m Pmë¶mV?

àíZ 4) XrKm}Îmar àíZ H$moUVohr XmoZ gmoS>dm. [20]

A) ghH$mar g§ñWm§Zm ôS>gmdUmè¶m H$mhr g‘ñ¶m§Mo narjU H$am.

~) ¶wZm¶Q>oS> ñQ>oQ²>g‘Yrb ghH$mar MidirÀ¶m {dH$mgmMr MMm© H$am.

H$) NCHF ¶mda MMm© H$ê$Z NCHF Mr C[Ôï>o gm§Jm.

S>) a{OñQ´>maÀ¶m A{YH$mam§Mo Vnerbdma dU©Z H$am.


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Q1) Solve any 5 out of 7. [10]
i) Agriculture, dairy, fishing, forestry are examples of _________.

a) Tertiary Sector b) Secondary Sector
c) Primary Sector d) None of the above

ii) _________ shows how big the economy of a country is.
a) GSDP b) GDP
c) PPP d) None of the above

iii) FDI is the formulation policy of which nodal department?
a) NABARD
b) SEBI
c) Department for promotion of industry and internal trade
d) RBI

iv) Increase in agricultural production and productivity is a pre-condition:
a) To raise the share of agriculture in GDP
b) To ensure national food security
c) To provide livelihood and nutritional security
d) All of the above

v) Low productivity for agriculture in India results in:
a) Poor irrigation facilities
b) Heavy dependence on monsoon
c) Absence of new technology
d) All the above
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vi) In 1970-71, which sector produced the maximum production in India?
a) Tertiary sector b) Secondary sector
c) Primary sector d) Quaternary sector

vii) What is the primary objective of co-operative marketing?
a) Maximizing individual profits
b) Promoting monopoly in markets
c) Ensuring collective benefits
d) Creating trade barriers

Q2) Solve any 4 out of 6. [20]
a) What are the key features of organized commodity markets?
b) What is Agribusiness? What are the three sectors involved in agribusiness?
c) Explain the argument in case of Public Enterprises.
d) What is Chamber of Commerce? write the Objectives of the Chamber of

Commerce.
e) Write a Short Note on Direct Marketing for farmers.
f) Discuss the challenges of agricultural business.

Q3) Solve any 4 out of 6. [20]
a) Write the salient features of Indian agriculture.
b) Write Government Management under Public Enterprises.
c) Write the limitations of Public Enterprises Committee.
d) Explain the role of FICCI.
e) Explain the disadvantages of state trading.
f) Write a note on service sector.

Q4) Solve any 2 out of 4. [20]
a) What is Cooperative marketing? Write what are the characteristics of

cooperative marketing organization.
b) Explain the impact of WTO on agricultural policy.
c) What are the FDI policies in India?
d) What is service sector? Explain Main service sector industries.


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(_amR>r ê$nm§Va)

doi : 3 Vmg     ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ Amdí`H$ Amho.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©dVmV.

P-4502

àíZ àíZ àíZ àíZ àíZ 1) Imbrb n¡H$s H$moUVohr 5 gmoS>dm. (àË òH$s 2 JwU) [10]
i) eoVr, Xþ½Yì`dgm`, _mgo_mar, dZrH$aU hr .......... Mr CXmhaUo AmhoV.

A) V¥Vr`H$ joÌ ~) Xþæ`_ joÌ
H$) àmW{_H$ joÌ S>) darbn¡H$s H$mhrhr Zmhr

ii) ............. XoemMr AW©ì`dñWm {H$Vr _moR>r Amho ho XmIdVo.
A) GSDP ~) GDP
H$) PPP S>) darbn¡H$s H$mhrhr Zmhr

iii) FDI ho H$moUË`m ZmoS>b {d^mJmMo YmoaU Amho?
A) Zm~mS>©
~) go~r
H$) CÚmoJ Am{U A§VJ©V ì`mnmamÀ`m g§dY©ZmgmR>r {d^mJ
S>) Ama ~r Am`

iv) H¥$fr CËnmXZ Am{U CËnmXH$Vm dmT> hr nyd© AQ> Amho.
A) OrS>rnr_Ü ò eoVrMm dmQ>m dmT>dUo
~) amï´>r` AÞ gwajm gw{ZpíMV H$aUo
H$) CnOr{dH$m Am{U nmofU gwajm àXmZ H$aUo
S>) darb gd©

v) ^maVmVrb eoVrgmR>r H$_r CËnmXH$VoMr H$maUo Imbrbà_mUo AmhoV.
A) Iam~ qgMZ gw{dYm
~) _mÝgyZda OmñV Adb§~yZ amhUo
H$) ZdrZ V§ÌkmZmMm A^md
S>) darb gd©

3 P.T.O.

m
unote

s.i
n



[6036]SODL-1008 4

vi) 1970-71 _Ü ò ^maVmV gdm©{YH$ CËnmXZ H$moUË`m joÌmZo Ho$bo?
A) V¥Vr`H$ joÌ ~) Xþæ`_ joÌ
H$) àmW{_H$ joÌ S>) MVwWmªe joÌ

vii) ghH$mar {dnUZmMm àmW{_H$ CÔoe H$m`?
A) d¡̀ pŠVH$ Z\$m OmñVrV OmñV H$aUo
~) ~mOmanoR>oVrb _ŠVoXmarbm MmbZm XoUo
H$) gm_y{hH$ bm^ gw{ZpíMV H$aUo
S>) ì`mnmamVrb AS>Wio {Z_m©U H$aUo

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUVohr 4 àíZ gmoS>dm. (àË òH$s 5 JwU) [20]
A) g§K{Q>V dñVy ~mOmamMr à_wI d¡{eîQ>ço H$moUVr?
~) H¥$fr ì`dgm` åhUOo H$m`? H¥$fr ì`dgm`mV H$moUË`m VrZ joÌm§Mm g_mdoe hmoVmo?
H$) gmd©O{ZH$ CnH«$_m§À`m ~m~VrV ẁ{º$dmX ñnï> H$am.
S>) dm{UÁ` _§S>i åhUOo H$m`? dm{UÁ` _§S>imMr C{ÔîQ>ço {bhm.
B) eoVH$`mªgmR>r WoQ> {dnUZ `mda Q>rn {bhm.
\$) H¥$fr ì`dgm`mVrb AmìhmZm§da MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr 4 àíZ gmoS>dm. (àË òH$s 5 JwU) [20]
A) ^maVr` eoVrMr R>iH$ d¡{eð>o WmoS>Š`mV {bhm.
~) gmd©O{ZH$ CnH«$_m§VJ©V emgH$s` ì`dñWmnZ WmoS>Š`mV {bhm.
H$) gmd©O{ZH$ CnH«$_ g{_VrÀ`m _`m©Xm {bhm.
S>) {\$ŠH$s `m g§ñWoMr ŷ{_H$m WmoS>Š`mV ñnï> H$am.
B) amÁ` ì`mnmamMo VmoQ>o g_OmdyZ gm§Jm.
\$) godm joÌ `mda Q>rn {bhm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr 2 àíZ gmoS>dm. (àË òH$s 10 JwU) [20]
A) ghH$mar {dnUZ åhUOo H$m`? ghH$mar {dnUZ g§ñWmMr d¡{eð>o H$moUVr Vo {bhm.
~) H¥$fr YmoaUmda OmJ{VH$ ì`mnma g§KQ>ZoMm n[aUm_ ñnï> H$am.
H$) ^maVmVrb FDI YmoaUo H$moUVr?
S>) godm joÌ åhUOo H$m`? _w»` godm joÌmVrb CÚmoJ gm§Jm.


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Q1) A) Fill in the blanks. (Any Five) : [5]
i) Production and Operation Management is concerned with

optimizing the processes that transform _________ into finished
products or services.

a) Raw Materials b) Marketing Strategies

c) Financial Reports d) Customer Feedback

ii) Service systems often incorporate the use of advanced _________
to enhance customer experiences.

a) Supply Chains b) Technology

c) Workforce d) Regulations

iii) Plant Layout planning is crucial to ensure efficient ____________
and resource utilization within a manufacturing facility.

a) Communication b) Energy Consumption

c) Material Flow d) Marketing

iv) Total Quality Management (TQM) aims to achieve higher levels
of ______________ while reducing defects and waste.

a) Productivity b) Customer Complaints

c) Bureaucracy d) Outsourcing

v) Business Ethics emphasizes the importance of aligning
organizationa1 actions with ethical ___________ and principles.

a) Dilemmas b) Regulations

c) Values d) Profits
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vi) Corporate Governance ensures that organizations follow ethical
_________ and practices while managing stakeholders interests.

a) Regulations b) Marketing

c) Employee Training d) Financial Reporting

vii) Indian Ethical Practices in Finance are designed to ensure
transparency and accountability in ________ management.

a) Project b) Human Resource

c) Financial d) Marketing

B) State whether the following statements are true or false. (any five) :
[5]

i) Production and Operation Management primarily deals with
marketing strategies.

ii) Service systems remain static and are not influenced by recent
trends.

iii) Plant Layout planning is mainly concerned with optimizing
material flow and resource utilization.

iv) Total Quality Management (TQM) does not emphasize the
reduction of waste in production processes.

v) Business Ethics solely focuses on maximizing profits.

vi) Corporate Governance is primarily concerned with promoting
ethical behavior and accountability within organizations.

vii) Indian Ethical Practices include areas like Finance and Marketing.

Q2) Attempt any four out from the following. [20]

a) Explain the Advantages of the continuous production system.

b) Describe the process of supply chain management.

c) Describe the role of Corporate Governance in ensuring transparency
and accountability within organizations.

d) Explain the significance of professional Values.

e) State the objectives of corporate Governance.

f) Write down the goals of Sustainable Development.
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Q3) Attempt any four from the following. [20]

a) Write types of plant Layout.

b) What are recent trends in service systems.

c) Explain the significance of efficient plant layout.

d) Explain the dimensions of Total Quality Management (TQM).

e) State the factors influencing ethical decision-making process.

f) Write the objectives and significance of Corporate Governance.

Q4) Attempt any two from the following. [20]

a) State the components and processes of Supply Chain Management.

b) Explain the key concepts, processes, and factors that influence product
development decisions in organizations.

c) Describe the advantages of CSR, legal provisions governing CSR in
India.

d) What are the emerging issues in Business Ethics and Environmental
concerns.


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) … [5]

i) CËnmXZ Am{U à{H«$`m ì`dñWmnZ .............. Mo CËnmXZo qH$dm godm§_Ü ò ê$nm§V[aV
H$aUmè`m à{H«$`m gdm}Îm_rH$aU H$aÊ`mer g§~§{YV Amho.

A) H$ƒm _mb ~) {dnUZ aUZrVr

H$) Am{W©H$ Ahdmb S>) J«mhH$ A{^àm`

ii) godm àUmbt_Ü ò ~è`mMXm J«mhH$m§Mo AZŵ d dmT>{dÊ`mgmR>r àJV ............ Mm
dmna g_m{dï> AgVmo.

A) nyadR>m gmIir ~) V§ÌkmZ

H$) _Zwî`~i S>) {Z`_

iii) `§Ì Hw$b aMZo_Ü`o H$m`©j_ ................ Am{U g§gmYZm§Mm dmna gw{ZpíMV
H$aÊ`mgmR>r Hw$b §̀Ì aMZm {Z`moOZ _hÎdnyU© Amho.

A) {Zamon ~) D$O}Mm dmna

H$) gm_J«r àdmh S>) {dnUZ

iv) EHy$U JwUdÎmm ì`dñWmnZ (Q>rŠ ỳE_) Mo CÔrï> Xmof Am{U Anì`` H$_r H$ê$Z
............... Mr Cƒ nmVir gmÜ` H$aUo Amho.

A) CËnmXH$Vm ~) J«mhH$m§À`m VH«$mar

H$) ZmoH$aemhr S>) ~mø ómoV
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v) ì`dgm` _wë`o Z¡{VH$ .............. Am{U VÎdm§gh g§KQ>ZmË_H$ H¥$Vr g§ao{IV
H$aÊ`mÀ`m _hÎdmda Omoa XoVo.

A) {ÛYm _Z…pñWVr ~) {Z`_

H$) _yë ò S>) Z\$m

vi) H$m°nm}aoQ> àemgZ ho gw{ZpíMV H$aVo H$s g§ñWm ^mJYmaH$m§À`m {hVm§Mo ì`dñWmnZ
H$aVmZm Z¡{VH$ ................. Am{U àWm§Mo AZwgaU H$aVmV.

A) {Z`_ ~) {dnUZ

H$) H$_©Mmar à{ejU S>) Am{W©H$ _m{hVr XoUo

vii) {dÎmm_Yrb ^maVr` Z¡{VH$ nÕVr ............... ì`dñWmnZmV nmaXe©H$Vm Am{U
CÎmaXm{`Ëd gw{ZpíMV H$aÊ`mgmR>r {S>PmBZ Ho$ë`m AmhoV.

A) àH$ën ~) _mZd g§gmYZ

H$) {dÎmr` S>) {dnUZ

~) Imbrb {dYmZo MyH$ H$s ~amo~a Vo {bhm. (H$moUVohr nmM) … [5]

i) CËnmXZ Am{U à{H«$`m ì`dñWmnZ àm_w»`mZo {dnUZ ì ỳhaMZoMr g§~§{YV Amho.

ii) godm àUmbr pñWa amhVmV Am{U AbrH$S>rb àdmhm§_wio à^m{dV hmoV ZmhrV.

iii) §̀Ì Hw$b aMZm {Z`moOZ àm_w»`mZo gm_J«r àdmh Am{U g§gmYZm§Mm dmna gdm}Îm_rH$aU
H$aÊ`mer g§~§{YV Amho.

iv) EHy$U JwUdÎmm ì`dñWmnZ (Q>rŠ ỳE_) CËnmXZ à{H«$ òVrb H$Mam H$_r H$aÊ`mda
^a XoV Zmhr.

v) ì`mdgm{`H$ _wë ò \$ŠV OmñVrV OmñV Z\$m H$_mdÊ`mda bj H|${ÐV H$aVo.

vi) H$m°nm}aoQ> àemgZ àm_w»`mZo g§ñWm§_Ü ò Z¡{VH$ dV©Z Am{U CÎmaXm{`Ëd dmT>{dÊ`mer
g§~§{YV Amho.

vii) ^maVr` Z¡{VH$ nÕVr _Ü ò {dÎm Am{U {dnUZ gma»`m joÌm§Mm g_mdoe Amho.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr Mma àíZmMr CÎmao {bhm. [20]

A) gVV CËnmXZ àUmbrMo \$m`Xo ñnï> H$am.

~) nwadR>m gmIir ì`dñWmnZmÀ`m à{H«$ òMo dU©Z H$am.

H$) g§ñWm§_Ü ò nmaXe©H$Vm Am{U CÎmaXm{`Ëd gw{ZpíMV H$aÊ`mgmR>r àemgZmÀ`m ŷ{_Ho$Mo
dU©Z H$am.

S>) ì`mdgm{`H$ _yë`m§Mo _hËd ñnï> H$am.

B) H$m°nm}aoQ> àemgZmMr C{Ôï>ço ñnï> H$am.

\$) emídV {dH$mgmMr C{Ôï>ço ñnï> H$am.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr Mma àíZmMr CÎmao {bhm. [20]

A) §̀Ì Hw$b aMZoMo àH$ma {bhm.

~) godm àUmbr_Yrb AbrH$S>Mo àdmh H$m` AmhoV.

H$) H$m ©̀j_ §̀Ì Hw$b aMZoMo _hÎd g_OmdyZ gm§Jm.

S>) EHy$U JwUdÎmm ì`dñWmnZmMo (Q>rŠ ỳE_) Am`m_ g_OmdyZ gm§Jm.

B) Z¡{VH$ {ZU©̀  à{H«$ òda n[aUm_ H$aUmao KQ>H$ gm§Jm.

\$) H$m°nm}aoQ> àemgZmMr C{Ôï>ço Am{U _hÎd {bhm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZmMr CÎmao {bhm. [20]

A) nwadR>m gmIir ì`dñWmnZmMo KQ>H$ Am{U à{H«$`m gm§Jm.

~) g§ñWm§_Yrb CËnmXZ {dH$mg {ZU©̀ m§da n[aUm_ H$aUmè`m _w»` g§H$ënZm, à{H«$`m Am{U
KQ>H$ ñnï> H$am.

H$) grEgAmaMo \$m`Xo, ^maVmVrb grEgAma {Z §̀{ÌV H$aUmè`m H$m`Xoera VaVwXtMo dU©Z
H$am.

S>) ì`dgm` _wë ò Am{U n`m©daUr` g_ñ`m§_Yrb CX`moÝ_wI _wÔo H$m` AmhoV.


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Q1) Answer in one sentence from the following (any five) : [5 × 2 = 10]

a) What do you mean by the term ‘Bank’?

b) Who is Managing Agent?

c) What do you mean by the term ‘negotiable instrument’?

d) What is the dishonour of a negotiable instrument?

e) What is a Non-Performing Asset?

f) Define e-banking.

g) Give the full form of FEMA Act?

Q2) Answer the following (any four) : [4 × 5 = 20]

a) Explain the difference between promissory note and bills of exchange.

b) Write a short note on bill of exchange.

c) Explain the Technical Issues identified by the RBI.

d) Write a short note on Internet Banking.

e) What are the functions of a Central Registrar?

f) Review the provisions relating to penalties under the Securitisation
Act.

Total No. of Questions : 4]
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Legal Framework of Banking and Banking Law & Practices
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Time : 3 Hours] [Max. Marks : 70
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1) All questions are compulsory.

2) Figures to the right indicate full marks.
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Q3) Answer the following (any four) : [4 × 5 = 20]

a) Write a short note on Penalties under Foreign Exchange Management
Act.

b) Write a short note on the system of exchange rates in India.

c) Explain how the Bank manages non-performing assets.

d) Overview of BASEL I.

e) What are the guidelines issued by the RBI regarding mobile banking?

f) Discuss the Banking Ombudsman scheme in detail.

Q4) Answer the following (any two) : [2 × 10 = 20]

a) Explain in detail the Provisions of the Banking Regulation Act.
Applicable to co-operative Bank.

b) Analyze the guidelines issued by the RBI with regard to Money
laundering.

c) Analyze the powers conferred to the Reserve Bank of India by the
Banking Regulation Act.

d) Explain the features of Prevention of Money Laundering Act, 2002.

m
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Legal Framework of Banking and Banking Law & Practices
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(_amR>r ê$nm§Va)
doi : 3 Vmg ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P-4504

àíZ 1) EH$m dmŠ`mV CÎmao {bhm. (H$moUVohr nmM) [5 × 2 = 10]

A) ~±H$ åhUOo H$m`?

~) "ì`dñWmnH$s` A{^H$Vm©' åhUOo H$m`?

H$) MbZj_ XñVEodO åhUOo H$m`?

S>) MbZj_ XñVEodOmMm AZmXa åhUOo H$m`?

B) AZwËnmXH$ _Îmm åhUOo H$m`?

\$) B©-~±qH$JMr ì`m»`m X²̀ m.

`) FEMA `m H$m`X²̀ mMo nyU© Zmd gm§Jm?

àíZ 2) WmoS>Š`mV CÎmao {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) dMZ{MÇ>r Am{U {d{Z_` nÌ `mVrb \$aH$ ñnï> H$am.

~) {d{Z_` nÌ `mda Q>rn {bhm.

H$) ^maVr` [aPìh© ~±Ho$bm {ZXe©Zmg Amboë`m Vm§{ÌH$ ñdê$nmÀ`m g_ñ`m WmoS>Š`mV {bhm.

S>) B§Q>aZoQ> ~±qH$J `mda Q>rn {bhm.

B) g|Q>́b a{OñQ´>maMr H$m`} ñnï> H$am.

\$) amoIrH$aU H$m`X²`mVrb {ejm/X§S> `m g§X^m©Vrb VaVwXtMm AmT>mdm ¿`m.

3 P.T.O.
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àíZ 3) WmoS>Š`mV CÎmao {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) naH$s` MbZ ì`dñWmnZ A{Y{Z`_mVrb X§S> `mda Q>rn {bhm.

~) ^maVmVrb {d{Z_` Xa àUmbrda Q>rn {bhm.

H$) ~±Ho$Ûmao AZwËnmXH$ _ÎmoMo ì`dñWmnZ H$go Ho$bo OmVo Vo ñnï> H$am.

S>) ~ogb g{_Vr I WmoS>Š`mV AmT>mdm ¿`m.

B) _mo~mB©b ~±qH$J~m~V RBI Zo H$moUVr _mJ©Xe©H$ VËdo Omar Ho$br AmhoV?

\$) ~±qH$J bmoH$m`wº$ `moOZoMr g{dñVa MMm© H$am.

àíZ 4) Imbrb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVohr XmoZ) [2 × 10 = 20]

A) ~±H$ ì`dgm` {Z`_Z H$m`X²`mVrb ghH$mar ~±H$m§Zm bmJyhmoUmè`m VaVwXr g{dñVa ñnï>
H$am.

~) Ad¡Y g§nÎmr Mo ew{ÕH$aU g§X^m©V ^maVr` [aPìh© ~±Ho$À`m _mJ©Xe©Zna gyMZm ñnï> H$am.

H$) ^maVr` ~±qH$J {Z`_Z H$m`X²`mZo [aPìh© ~±Ho$bm {Xbobo A{YH$ma ñnï> H$am.

S>) Ad¡Y g§nÎmrMo ew{ÕH$aU H$m`Xm 2002 Mr d¡{eï>o gm§Jm.

m
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Q1) Solve any five of out of seven from the following : [5 × 2 = 10]

a)  What is marketing?

b) What is Micro Marketing?

c) What is Price Mix?

d) What is Marketing Mix?

e) What is Price?

f) What is Production Mix?

g) What is mean by Label?

Q2) Attempt any four out of six from the following : [4 × 5 = 20]

a) Explain Steps in Product Life Cycle.

b) Explain Customer Service Marketing Mix.

c) Explain Types of Web Advertising.

d) Write a note on Customer Development.

e) Write a note on Customer Retention.

f) Write Importance of ECRM Software.

SEAT No. :
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Q3) Attempt any four out of six from the following : [4 × 5 = 20]
a) Explain various steps in Product Development.

b) Write Functions of Advertising.

c) Write note on Sales Promotion.

d) Write importance of Marketing.

e) Write Personal Selling Theory.

f) Write note on Customer Profit.

Q4) Attempt any two out of four from the following : [2 × 10 = 20]
a) Explain in detail Role of Customer Relation Management.

b) Write in detail Consumer satisfaction & Consumer expectations.

c) Explain in detail ECRM Technique.

d) Explain in detail customer life values.


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2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
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àíZ 1) Imbrbn¡H$s gmVn¡H$s nmM àíZm§Mr CÎmao {bhm. [5 × 2 = 10]

A) {dnUZ åhUOo H$m`?

~) _mBH«$mo _mH}$qQ>J åhUOo H$m`?

H$) qH$_V {_l åhUOo H$m`?

S>) {dnUZ {_l åhUOo H$m`?

B) qH$_V åhUOo H$m`?

\$) CËnmXZ {_l åhUOo H$m`?

`) IwU {MÆ>r åhUOo H$m`?

àíZ 2) Imbrb ghm n¡H$s Mma àíZm§Mr CÎmao {bhm. [4 × 5 = 20]

A) dñVy OrdZ MH«$mÀ`m AdñWm ñnï> H$am.

~) J«mhH$ godm {dnUZ {_l ñnï> H$am.

H$) do~ Om{hamVrMo {d{dY àH$ma ñnï> H$am.

S>) J«mhH$ {dH$mg `mda Q>rn {bhm.

B) J«mhH$YmaUm `mda Q>rn {bhm.

\$) ECRM gm°âQ>doAaMo _hËd {bhm.

P.T.O.
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àíZ 3) Imbrb ghm n¡H$s Mma àíZm§Mr CÎmao {bhm. [4 × 5 = 20]

A) dñVy {dH$mgmVrb {d{dY AdñWm {bhm.

~) Om{hamVrMr H$m }̀ {bhm.

H$) {dH«$s d¥Õr `mda Q>rn {bhm.

S>) {dnUZmMo _hÎd {bhm.

B) d¡̀ {ŠVH$ {dH«$sMm {gÕm§V {bhm.

\$) J«mhH$ Z\$m `mda Q>rn {bhm.

àíZ 4) Imbrb Mma n¡H$s XmoZ àíZm§Mr CÎmao {bhm. [2 × 10 = 20]

A) J«mhH$ g§~§Y ì`dñWmnZ ŷ{_H$m g{dñVa ñnï> H$am.

~) J«mhH$m§Mo g_mYmZ Am{U J«mhH$m§À`m Anojm `mda g{dñVa {bhm.

H$) ECRM V§ÌkmZ g{dñVa ñnï> H$am.

S>) J«mhH$m§Mo AmO OrdZ _yë` g{dñVa ñnï> H$am.


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Q1) Attempt any five out of seven from the following. [5×2=10]
a) What is Indirect Tax?
b) Who is a Person?
c) Who can be considered as a Non Resident in India?
d) Whose income can be clubbed?
e) What is Re-assessment?
f) What is Tax Deduction at Source?
g) Mention any two powers of an Income Tax inspector.

Q2) Attempt any four out of six from the following. [4×5=20]
a) Explain different types of Tax Planning.
b) Mention the incomes exempt under Income Tax Act 1961.
c) Write a short note on Capital Gains.
d) Write a note on assessment of Charitable Trusts.
e) Write a short note on Rebate under Sec 87A.
f) Briefly explain Fully Taxable Allowance, Partially Taxable Allowances

and Full Exempt Allowances with suitable examples.

Q3) Attempt any four out of six from the following. [4×5=20]
a) Write short notes on GST Returns.
b) Write a short note on deductions from income from house property.
c) Explain in brief, the features of a business.
d) Write a short note on Assessment of Cooperative Society.
e) Write a note on taxability of HUF.

P.T.O.
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f) Calculate the amount and type of GST and mention the Governments to
whom the tax will be paid by the traders in the following cases:

i) Suppose a Tamil Nadu based traders sells goods to a Gujarat based
trader, goods worth Rs. 5,00,000. (Applicable tax rate is 18% IGST)

ii) Suppose Surat based traders sells goods in Surat worth Rs. 1,20,000.
(applicable tax rate is 12% which comprises of 6% CGST, and 6%
SGST.)

Q4) Attempt any two out of four from the following. [2×10=20]

a) Explain the advantages of GST to various stakeholders.

b) Write the difference between Tax exemptions, Tax Evasion and Tax
Avoidance with suitable examples.

c) Explain in detail Income Tax Rules of Advance Tax.

d) Mr. Raghuveer receives the following emoluments from the Karnataka
State Government for the year ending 31st March 2023.

Particulars Amount

Basic Pay A1,40,000

Dearness Allowance A40,000

Commission A30,000

Entertainment Allowance A10,000

Medical Expenses Reimbursed A40,000

Professonal Tax paid by employer A5,000

Employer’s contribution to RPF A10,000

Raghuveer’s contribution to RPF A10,000

Overtime Allowance A9,000

Marriage Allowance A6,000

Total A3,00,000

Compute Gross Taxable Income of Mr. Raghuveer for the AY 23-24


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Q1) Attempt any five out of seven from the following. [5×2=10]

a) What do you mean by intellectual property?

b) Define Trade Marks.

c) Explain types of Patents.

d) Define Biological resources.

e) Define term of Biodiversity.

f) Who is the Controller General of Patents?

g) What is the Full form of GAAT’?

Q2) Attempt any four out of six from the following. [4×5=20]

a) What are the Procedure of the Patent (Amendment) Act, 1999?

b) What are the Remidies of infringement?

c) What are the responsibilities of central government with regards to
conservation of biodiversity resources?

d) What are the Objectives of copyright?

e) Write a short note on the meaning of geographical indications.

f) Briefly explain the authorities presiding over the PPVFR Act. 2001.

P.T.O.

m
unote

s.i
n



2[6036]-SODL-1013

Q3) Attempt any four out of six from the following. [4×5=20]

a) What are the powers, rights and duties of the Controller?

b) Discuss the Registration of trademarks.

c) Explain the Various Biological Resources.

d) Discuss the scope of industrial design.

e) Write a short note on Functions on Patents.

f) What are the provisions related to acceptances and opposition of
application under the PPVFR Act, 2001?

Q4) Attempt any two out of four from the following. [2×10=20]

a) Elaborate on the objectives and principles of WTO and GATT.

b) Differentiate between Commercial and Cultural Dimension in Intellectual
Property.

c) Why is the Paris Convention so significant with respect to intellectual
rights?

d) Discuss the Concept and Evaluation of copyright.
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BUSINESS LAWS
106:Intellectual Property Laws and Laws Regulating to

 Copyrights & Design
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(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

P4506

à.à.à.à.à.1) Imbrb gmV n¡H$s H$moUVohr nmM àíZ gmoS>dUo. [5×2=10]

A) ~m¡[ÕH  g§nXm$åhUOo H$m¶?

~) Q´>oS> ‘m³g© n[a^m{fV H$am.

H$) noQ>§Q>Mo àH$ma ñnï> H$am.

S>) O¡{dH$ g§gmYZm§Mr ì¶m»¶m H$am.

B) O¡d{d{dYVoMr g§km n[a^m{fV H$am.

’$) noQ>§Q>Mo {Z¶§ÌH$ H$moU AmhoV?

¶) GAAT Mo nyU© ê$n H$m¶ Amho?

à.à.à.à.à.2) Imbrb ghm n¡H$s H$moUVohr Mma àíZ gmoS>dUo. [4×5=20]

A) noQ>§Q> (gwYmaUm) H$m¶Xm, 1999 Mr à{H«$¶m H$m¶ Amho?

~) C„§KZmMo Cnm¶ H$m¶ AmhoV?

H$) O¡d{d{dYVm g§gmYZm§À¶m g§dY©Zm~m~V H|$Ð gaH$maÀ¶m O~m~Xmè¶m H$m¶ AmhoV?

S>) H$m°nramBQ>Mr C{Ôï>o H$m¶ AmhoV?

B) ^m¡Jmo{bH$ g§Ho$Vm§À¶m AWm©da EH$ N>moQ>r Q>rn {bhm.

’$) PPVFR H$m¶Xm, 2001 Mo AÜ¶j Agboë¶m A{YH$mè¶m§Mo WmoS>³¶mV ñnï>rH$aU Úm.
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à.à.à.à.à.3) Imbrb ghm n¡H$s H$moUVohr Mma àíZ gmoS>dUo. [4×5=20]
A) {Z¶§ÌH$mMo A{YH$ma, A{YH$ma Am{U H$V©ì¶o H$m¶ AmhoV?
~) Q´>oS>‘mH©$À¶m Zm|XUrda MMm© H$am.
H$) {d{dY O¡{dH$ g§gmYZo ñnï> H$am.
S>) Am¡Úmo{JH$ aMZoÀ¶m ì¶márMr MMm© H$am.
B) noQ>§Q>darb ’§$³eÝgda EH$ Q>rn {bhm.
’$) PPVFR H$m¶Xm, 2001 A§VJ©V AO© ñdrH$maUo Am{U {damoY H$aÊ¶mg§~§Yr H$moUË¶m VaVwXr AmhoV?

à.à.à.à.à.4) Imbrb Mma n¡H$s H$moUVohr XmoZ àíZ gmoS>dUo. [2×10=20]
A) WTO Am{U GATT  Mr C{Ôï>o Am{U VÎdo ñnï> H$am.
~) ~m¡[ÕH$ g§nÎmr‘Yrb ì¶mdgm{¶H$ Am{U gm§ñH¥¥¥¥¥${VH$ n[a‘mU ¶m§À¶mV ’$aH$ H$am.
H$) ~m¡[ÕH$ A{YH$mam§À¶m g§X^m©V n°[ag A{YdoeZ BVHo$ ‘hÎdmMo H$m Amho?
S>) H$m°nramB©Q>Mr g§H$ënZm Am{U ‘yë¶‘mnZ ¶mda MMm© H$am.
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Total No. of Questions : 4]

[6036]-SODL-1014
M.Com. - I

108 : COSTING TECHNIQUES AND RESPONSIBILITY
 ACCOUNTING AND COST CONTROL AND COST SYSTEM

(2019 Pattern)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.
3) Use of simple calculator is allowed.

P4507 [Total No. of Pages : 2
SEAT No. :

Q1) Attempt any five questions from the following. [10]

a) Explain the term Budget committee.

b) State the meaning of Standard Cost.

c) What do you mean by Responsibility Accounting?

d) Define the term Inter-Firm comparison.

e) What is Cost Control?

f) What is marginal Cost?

g) Explain the term Productivity.

Q2) Attempt any four questions from the following. [20]

a) Write a short note on Sales Budget.

b) Explain the measurement of productivity.

c) Write basis of apportionment of overheads.

d) Write short note on P/V ratio.

e) State difference between Cost and Cost accountancy.

f) What are the principles of Product Pricing?

P.T.O.
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Q3) Attempt any four questions from the following. [20]
a) Explain various assumptions of Break-Even Price.

b) From the following information calculate Break Even Point in units.

Selling Price Rs. 150 p.u.

Variable Cost Rs. 90 p.u.

Fixed expenses Rs. 6,00,000

c) ABC Ltd produce two products, product A and product B. Calculate
return on investment from the following information and state which
product gives more return?

Product A Sales Rs. 5,00,000, Profit Rs. 20,000

Product B Sales Rs. 2,00,000, Profit Rs. 30,000.

d) Write short note on Cost centre.

e) State difference between Cost Control and Cost reduction.

f) Explain the process of designing MIS.

Q4) Long Answer Questions (Any 2) [20]
a) Explain various types of Budget.

b) Explain the term uniform Costing. State advantages and limitations of
Uniform Costing.

c) ABC Ltd. Sets Labour time standard for processing one unit of Product
‘P’ as a standard direct labour hours at Rs. 10 per hour for 6,000 Hrs.
During the month of May the company used 5000 actual direct labour
hours at Rs. 12 per hour to process units of product ‘P’. You are requiring
to calculate

i) Labour Cost Variance

ii) Labour Rate Variance

iii) Labour Efficiency Variance

iv) Also verify your answers


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[6036]-SODL-1015
F.Y. M.Com.

110 : RURAL DEVELOPMENT AND CO-OPERATIVE
MANAGEMENT AND EDUCATION

(2019 Pattern)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) The figures to the right  indicates full marks.

P4585 [Total No. of Pages : 4
SEAT No. :

Q1) A) Attempt any five out of seven from the following. [5×1=5]
i) Initially, the Prime Minister’s Rozgar Yojana was implemented only

in____Areas of the country.
a) Rural b) Semi urban
c) Urban d) District

ii) The National Water Policy was adopted first in________
a) January 1937 b) August 1947
c) September 1987 d) March 1936

iii) Co-operatives play an important role in_______development of a
country.
a) Economics b) Social
c) Rural d) Human

iv) Pradhan Mantri Gram Sadak Yojana is a centrally sponsored scheme
in the state is being implemented from
a) 2000 b) 2001
c) 2002 d) 2003

v) Which of these is not an objective of rural development?
a) To improve wages for the urban population
b) To work on removing unemployment in rural areas
c) To enhance the living standards of rural people
d) To improve wages for the rural population

vi) Initiatives for implementing  rural development include_______.
a) Improving public health
b) Setting up facilities for agricultural research
c) Infrastructure development in rural areas
d) All of the above

vii) Which of the following are institutional sources of rural credit?
a) Regional rural banks b) Landlords
c) Traders d) Moneylenders

P.T.O.
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B) True or False : [5×1=5]
i) Irrigation is a very important development indicator.
ii) Roshni is a Skill Development Scheme for Tribal.
iii) Healthy people shall always build a better and stronger nation.
iv) Cooperative plays an important role in the economic development

of a country.
v) The Prime Minister’s Rozgar Yojana was launched on 2nd October

1993 to assist less educated and poor unemployed youth.

Q2) Attempt any four out of six from the following. [4×5=20]
a) Briefly explain the indicators of Rural Development.
b) Write a short note on the membership and management of a state

co-operative bank.
c) List the Purpose of Co-operative Audit.
d) What are the important objectives of NCCT?
e) What is the need of Agriculture Credit?
f) List the Basic Characteristics of the Housing Cooperative.

Q3) Attempt any four out of six from the following. [4×5=20]
a) What are the liabilities of a Co-operative Auditor?
b) Write a short note on the importance of Cooperative Management.
c) Explain the approaches to Rural Development.
d) Explain the Need of Self Help Groups.
e) Explain the Employees Assurance Scheme.
f) Explain the Concept of Rural Development.

Q4) Attempt any two from the following. [2×10=20]
a) Briefly Explain the importance and need for rural development in

Maharashtra.
b) Describe the Current Scenario of Rural Development in Maharashtra.
c) Describe the classification of Management of Co-operatives based on

various Management Functions.
d) Explain the Rural Development Policies.


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Total No. of Questions : 4]

[6036]-SODL-1015
F.Y. M.Com.

110 : RURAL DEVELOPMENT AND CO-OPERATIVE
MANAGEMENT AND EDUCATION

(2019 Pattern)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4585

à.à.à.à.à.1) A) [aH$må¶m OmJr ¶mo½¶ n¶m©¶ {ZdS>m… (H$moUË¶mhr nmM) [5×1=5]
i) gwédmVrbm, n§VàYmZ amoOJma ¶moOZm XoemVrb ’$º$ .............. ^mJmV bmJy H$aÊ¶mV

Ambr hmoVr.
A) J«m‘rU ~) {Z‘ehar
H$) ehar S>) {Oëhm

ii) amï´>r¶ ObZrVr àW‘ ............... ‘Ü¶o ñdrH$mabr Jmobr.
A) OmZodmar 1937 ~) Am°JñQ> 1947
H$) gßQ>|~a 1987 S>) ‘mM© 1936

iii) XoemÀ¶m ............. {dH$mgmV ghH$mar g§ñWm ‘hÎdmMr ŷ{‘H$m ~OmdVmV.
A) Am{W©H$ ~) gm‘m{OH$
H$) J«m‘rU S>) ‘mZd

iv) àYmZ‘§Ìr J«m‘ gS>H$ ¶moOZm hr amÁ¶mVrb EH$ H|$Ð nwañH¥$V ¶moOZm Amho Or ...........
nmgyZ am~{dÊ¶mV ¶oV Amho.
A) 2000 ~) 2001
H$) 2002 S>) 2003

v) ¶mn¡H$s H$moUVo C{Ôï> J«m‘rU {dH$mgmMo Zmhr?
A) ehar bmoH$g§»¶ogmR>r doVZ gwYmaÊ¶mgmR>r
~) J«m‘rU ^mJmVrb ~oamoOJmar Xÿa H$aÊ¶mgmR>r H$m‘ H$aUo
H$) J«m‘rU ^mJmVrb bmoH$m§Mo OrdZ‘mZ C§MmdÊ¶mgmR>r
S>) J«m‘rU bmoH$g§»¶ogmR>r doVZ gwYmaÊ¶mgmR>r
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vi) J«m‘rU {dH$mgmÀ¶m A§‘b~OmdUrgmR>r CnH«$‘m§‘Ü¶o ................ ¶m§Mm g‘mdoe hmoVmo.
A) gmd©O{ZH$ Amamo½¶ gwYmaUo
~) H¥$fr g§emoYZmgmR>r gw{dYm C^maUo
H$) J«m‘rU ^mJmV nm¶m ŷV gw{dYm§Mm {dH$mg
S>) darb gd©

vii) Imbrbn¡H$s H$moUVo J«m‘rU H$Om©Mo g§ñWmË‘H$ òmoV AmhoV?
A) àmXo{eH$ J«m‘rU ~±H$m  ~) O‘rZXma
H$) ì¶mnmar S>) gmdH$ma

~) Imbrb {dYmZo MyH$ {H$ ~amo~a Vo {bhm. [5×1=5]
i) qgMZ ho {dH$mgmMo AË¶§V ‘hÎdmMo {ZX}eH$ Amho.
ii) amoeZr hr Am{XdmgtgmR>r H$m¡eë¶ {dH$mg ¶moOZm Amho.
iii) {ZamoJr bmoH$ Zoh‘rM Mm§Jbo Am{U ‘O~yV amï´> {Z‘m©U H$aVmV.
iv) XoemÀ¶m Am{W©H$ {dH$mgmV ghH$ma ‘hÎdmMr ŷ{‘H$m ~OmdVo.
v) n§VàYmZ amoOJma ¶moOZm 2 Am°³Q>mo~a 1993 amoOr H$‘r {e{jV Am{U Jar~ ~oamoOJma

VéUm§Zm ‘XV H$aÊ¶mgmR>r gwê$ H$aÊ¶mV Ambr.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao {bhm. [4×5=20]
A) J«m‘rU {dH$mgmMo {ZX}eH$ WmoS>³¶mV gm§Jm.
~) amÁ¶ ghH$mar ~±Ho$Mo gXñ¶Ëd Am{U ì¶dñWmnZ ¶mda Q>rn {bhm.
H$) ghH$mar boImnarjUmÀ¶m CÔoe ñnï> H$am.
S>) NCCT Mr ‘hËdmMr C{Ôï>o H$moUVr AmhoV?
B) H¥$fr H$Om©Mr JaO ñnï> H$am.
’$) J¥h{Z‘m©U ghH$mar g§ñWoÀ¶m ‘yb ŷV d¡{eï²>¶m§Mr ¶mXr H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao {bhm. [4×5=20]
A) ghH$mar boImnarjH$mMr O~m~Xmar H$m¶ Amho?
~) ghH$mar ì¶dñWmnZmÀ¶m ‘hÎdmda Q>rn {bhm.
H$) J«m‘rU {dH$mgmÀ¶m nÕVr ñnï> H$am.
S>) ~MV JQ>m§Mr JaO ñnï> H$am.
B) H$‘©Mmar AmídmgZ ¶moOZm ñnï> H$am.
’$) J«m‘{dH$mgmMr g§H$ënZm ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. [2×10=20]
A) ‘hmamï´>mVrb J«m‘rU {dH$mgmMo ‘hÎd Am{U JaO WmoS>³¶mV gm§Jm.
~) ‘hmamï´>mVrb J«m‘rU {dH$mgmÀ¶m gX²¶ n[apñWVrMo dU©Z H$am.
H$) {d{dY ì¶dñWmnZ H$m¶mªda AmYm[aV ghH$mar g§ñWm§À¶m ì¶dñWmnZmÀ¶m dJuH$aUmMo dU©Z H$am.
S>) J«m‘rU {dH$mg YmoaUo ñnï> H$am.


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F.Y. M.Com.

112 : BUSINESS ENVIRONMENT AND POLICY AND BUSINESS
ENVIRONMENT ANALYSIS

(2019 CBCS Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4508 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt any five out of seven from the following: [5×2=10]

a) What is environment?

b) What is black money?

c) Define ‘pollution’?

d) State the World Bank’s definition of globalization.

e) What is Industrial Consolidation?

f) Define capital market.

g) What is SWOT analysis?

Q2) Attempt any four out of six from the following: [4×5=20]

a) Describe the components of microenvironment.

b) Explain the causes of inflation.

c) Explain important provisions of Environment Protection Act.

d) State the effects of globalization.

e) Briefly explain the importance of small-scale industries and cottage
industries.

f) Explain the limitations of environmental analysis.

P.T.O.

m
unote

s.i
n



2[6036]-SODL-1016

Q3) Attempt any four out of six from the following: [4×5=20]

a) Explain the components of internal environment.

b) Explain the effects of regional imbalance.

c) Explain how natural resources should be conserved.

d) Discuss the characteristics of globalization.

e) State the advantages of industrial compound.

f) Explain the role of co-operative banks.

Q4) Attempt any two out of four from the following: [2×10=20]

a) Explain in detail the nature and characteristics of business environment.

b) Analyse the types and causes of unemployment in India.

c) Explain the role of public enterprises in the development of India.

d) Discuss in detail the methods and techniques of environmental analysis.

eeeem
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Total No. of Questions : 4]

[6036]-SODL-1016
F.Y. M.Com.

112 : BUSINESS ENVIRONMENT AND POLICY AND BUSINESS
ENVIRONMENT ANALYSIS

(2019 CBCS Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4508

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr gmV n¡H$s nmM àíZ gmoS>dm. [5×2=10]

A) n¶m©daU åhUOo H$m¶?

~) H$mim n¡gm åhUOo H$m¶?

H$) ‘àXÿfU’ ì¶m»¶m {bhm.

S>) OmJ{VH$ ~±Ho$Mr OmJ{VH$sH$aUmMr ì¶m»¶m gm§Jm.

B) Am¡Úmo{JH$ EH$ÌrH$aU åhUOo H$m¶?

’$) ^m§S>db ~mOmamMr ì¶m»¶m gm§Jm.

¶) ñdm°Q> {díbofU åhUOo H$m¶?

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr ghm n¡H$s Mma àíZ gmoS>dm. [4×5=20]

A) gyú‘ n¶m©daUmVrb KQ>H$m§Mo dU©Z H$am.

~) MbZdmT>rMr H$maUo ñnï> H$am.

H$) n¶m©daU g§ajU H$m¶ÚmVrb ‘hÎdmÀ¶m VaVwXr ñnï> H$am.

S>) OmJ{VH$sH$aUmMo n[aUm‘ gm§Jm.

B) bKw CÚmoJ Am{U Hw$Q>ra CÚmoJ ¶m§Mo ‘hÎd WmoS>³¶mV ñnï> H$am.

’$) n¶m©daU {díbofUmÀ¶m ‘¶m©Xm ñnï> H$am.
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr ghm n¡H$s Mma àíZ gmoS>dm. [4×5=20]

A) A§VJ©V n¶m©daUmVrb KQ>H$ ñnï> H$am.

~) àmXo{eH$ Ag‘VmobmMo n[aUm‘ ñnï> H$am.

H$) Z¡g{J©H$ gmYZg§nÎmrMo g§dY©Z H$em nÕVrZo Ho$bo nm{hOo Vo {deX H$am.

S>) OmJ{VH$sH$aUmMr d¡{eï²>¶o ¶mda MMm© H$am.

B) Am¡Úmo{JH$ g§¶wJmMo ’$m¶Xo gm§Jm.

’$) ghH$mar ~±H$m§Mr ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr Mma n¡H$s XmoZ àíZ gmoS>dm. [2×10=20]

A) ì¶mdgm{¶H$ n¶m©daUmMo ñdê$n d d¡{eï²>¶o g{dñVa ñnï> H$am.

~) ^maVmVrb ~oamoOJmarMo àH$ma Am{U H$maUm§Mo {díbofU H$am.

H$) gmd©O{ZH$ CÚmoJm§Mr ^maVmÀ¶m {dH$mgmVrb ŷ{‘H$m ñnï> H$am.

S>) n¶m©daU {díbofUmÀ¶m nÕVr Am{U V§Ìo ¶mda g{dñVa MMm© H$am.
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M.Com.-I
114 :  FINANCIAL MANAGEMENT AND ELEMENTS OF

KNOWLEDGE MANAGEMENT
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Time : 3 Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right  indicate full marks.

P4509 [Total No. of Pages : 3

SEAT No. :

Q1) A) Attempt any five from the following. [5×1=5]

a) Finance act as a ______ of a company

i) Blood ii) Core

iii) Lifeline iv) Backbone

b) Wealth Maximization means maximizing the wealth of the_______

i) Shareholders ii) Directors

iii) Bankers iv) Creditors

c) NPV means_________

i) Net packing value ii) Net present value

iii) Net Programme value iv) Net Purchase value

d) Balance Sheet is also known as _________

i) Income statement ii) Fund flow statement

iii) Cash flow statement iv) Financial position statement

e) Payback period is a method of _______

i) Project planning ii) Project performance

iii) Project Designing iv) Project Evaluation

P.T.O.
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f) ______ and ______ are essentials into a lease contract.

i) Owner and Tenant ii) Lessor and Lessee

iii) Buyer and seller iv) None of these

g) The actionable phase is also known as ______

i) Pre-implementation phase

ii) Deployment phase

iii) Post-implementation phase

iv) Design and Development phase

B) Match the following. [5]

Group A Group B

a) Payback period i) Capital budgeting Decision

b) Tool of financial statement

analysis ii) Cycle of current Assets

c) Cost replacement iii) Recovery period

d) Cash, Raw material, work

in progress iv) Knowledge

e) Full utilization of information v) Common-size financial

and data  statement

Q2) Attempt any Four from the following. [20]

a) What is Financial Management? State the Traditional view and Modern
View.

b) Write note on Comparative and Common-size financial statements.

c) What is Ratio Analysis? State the types of Ratios.

d) Write a note on Payback Period.

e) State the Essential components: Knowledge management

f) Write a note on Balanced Scorecard
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Q3) Attempt any Four from the following. [20]

a) Explain the Concept Liquidation Value.

b) Explain the Concept Working Capital.

c) Write a note on knowledge Sharing.

d) Write a note on E-Commerce and Knowledge Management.

e) State the similarities between Knowledge Management and Total Quality
Management.

f) Write a note on Return on Investment.

Q4) Attempt any Two from the following. [20]

a)  Explain in detail the Development Functions of RBI.

b) Describe the Significance of Financial Statement Analysis.

c) Explain the Process of Knowledge Management.

d) Explain the Organizational Knowledge Management Process.


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1) All questions are compulsory.
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P4510 [Total No. of Pages : 4
SEAT No. :

Q1) Answer in one sentence from the following. (Any five) [5×2=10]

a) What do you mean by Credit Control?

b) What do you mean by Liquid Assets?

c) What is Para banking activity?

d) Give the full form of CAMELS

e) What do you mean by balanced growth?

f) What is monetary policy?

g) What is Fiscal Policy?

Q2) Answer the following. (any four) [4×5=20]

a) Briefly explain the quantitative measures of credit control.

b) Briefly explain the licensing process of a banking company.

c) Briefly describe the Subsidiaries of commercial banks.

d) Write a detailed note on “Bank Assurance”.

e) Explain the role of the non-banking financial company (NBFC).

f) Explain the problems faced by non-banking financial companies
(NBFCs).

P.T.O.
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Q3) Answer the following. (any four) [4×5=20]

a) Write a short note on price stability.

b) Briefly explain the employment generation.

c) Briefly explain the decision-making process of the Monetary Policy
Committee.

d) Explain the composition of the Monetary Policy Committee.

e) Explain in detail recent changes in central bank monetary policy.

f) Explain the monetary policy for the financial year 2018-19.

Q4) Answer the following. (any two) [2×10=20]

a) What is microfinance? Explain in detail the functions of microfinance.

b) What is financial inclusion? Explain in detail the importance of financial
inclusion.

c) Explain in detail the functions of the central bank.

d) Explain the different types of central bank autonomy.
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Total No. of Questions : 4]

[6036]-SODL-1018
F.Y. M.Com.

116 : CENTRAL BANKING AND MONETARY POLICY
(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X ©̂mgmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4510

à.à.à.à.à.1) EH$m dm³¶mV CÎmao {bhm.(H$moUVohr nmM) [5×2=10]

A) nV-{Z¶§ÌU åhUOo H$m¶?

~) Vab g§nÎmr åhUOo H$m¶?

H$) ghmæ¶H$ ~±qH$J {H«$¶m åhUOo H$m¶?

S>) CAMELS (gr.E.E‘.B©.Eb.Eg.) Mo nyU© ê$n Úm.

B) g§Vw{bV d¥Õr åhUOo H$m¶?

’$) ‘wÐm{df¶H$ YmoaU åhUOo H$m¶?

¶) amOH$mofr¶ YmoaU åhUOo H$m¶?

à.à.à.à.à.2) WmoS>³¶mV CÎmao {bhm.(H$moUVohr Mma) [4×5=20]

A) nV {Z¶§ÌUmMr g§»¶mË‘H$ gmYZo {deX H$am.

~) ~±qH$J H§$nZrMr nadmZm à{H«$¶m WmoS>³¶mV ñnï> H$am.

H$) dm{UÁ¶ ~±H$m§À¶m ghmæ¶H$ H§$nÝ¶m WmoS>³¶mV ñnï> H$am.

S>) “~±H$ {d‘m” (Bank Assurance) ¶mda g{dñVa Q>rn {bhm.

B) Zm°Z-~±qH$J {dÎmr¶ H§$nZrMr (NBFC) ŷ{‘H$m ñnï> H$am.

’$) Zm°Z-~±qH$J {dÎmr¶ H§$nZrg‘moarb (NBFC) g‘ñ¶m ñnï> H$am.
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à.à.à.à.à.3) WmoS>³¶mV CÎmao {bhm.(H$moUVohr Mma) [4×5=20]
A) qH$‘V ñW¡¶© (qH$‘VrMr pñWaVm) ¶mda {Q>n {bhm.
~) amoOJma{Z{‘©Vr WmoS>³¶mV ñnï> H$am.
H$) ‘wÐm{df¶H$ YmoaU g{‘VrMr {ZU©¶ à{H«$¶m WmoS>³¶mV ñnï> H$am.
S>) ‘wÐm{df¶H$ YmoaU g{‘VrMr aMZm {deX H$am.
B) ‘Ü¶dVu ~±Ho$À¶m ‘wÐm{df¶H$ YmoaUmVrb VmOo ~Xb g{dñVa ñnï> H$am.
’$) Am{W©H$ df© 2018-19 ¶m H$mimVrb ‘wÐm{df¶H$ YmoaU ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr g{dñVa CÎmao {bhm.(H$moUVohr XmoZ) [2×10=20]
A) gyú‘ {dÎmnwadR>m åhUOo H$m¶? gyú‘ {dÎmnwadR>²¶mMr H$m¶©o Vnerbdma gm§Jm.
~) Am{W©H$ gmjaVm åhUOo H$m¶? Am{W©H$ gmjaVoMo ‘hÎd Vnerbdma gm§Jm.
H$) ‘Ü¶dVu ~±Ho$Mr H$m¶} g{dñVa ñnï> H$am.
S>) ‘Ü¶dVu ~±Ho$À¶m ñdm¶ÎmVoMo {d{dY àH$ma {deX H$am.
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[6036]-SODL-1019
M.Com. -I

118 : CONSUMER BEHAVIOUR AND SERVICES MARKETING
(2019 CBCS Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figure to the right indicate full marks.

P4511 [Total No. of Pages : 4
SEAT No. :

Q1) Solve any Five questions. [10]

a) What is the meaning of Consumer Behaviour?

b) What is the objective of Consumer Motivation?

c) What are the components of Consumer Personality?

d) Explain the concept of Consumer Learning.

e) What is price of a product or service?

f) What is the Service Marketing Mix?

g) Define Consumer Satisfaction.

Q2) Solve any Four questions. [20]

a) Explain the need of Consumer Motivation.

b) What is marketing mix, what are its major element?

c) What is the role of Physical Evidence in service marketing?

d) Explain the Economic Model of Consumer Behaviour.

e) What is the role of Promotion in the Service Marketing Mix?

f) How do you measure Service Quality?

P.T.O.
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Q3) Solve any Four questions. [20]

a) What are three components of consumer attitude?

b) Explain difference between Goods and services.

c) Explain the ways to overcome motivation conflicts.

d) Describe one way in which subcultures influence consumer preferences.

e) Define the term “Service Quality” and its importance in the service
industry.

f) How can businesses effectively manage consumer service perceptions?

Q4) Solve any Two questions. [20]

a) Explain Need and Advantages to Study Consumer Behaviour.

b) Explain how Defence Mechanisms in Consumer Behaviour affect
consumer choices.

c) What are 7 p’s of service marketing? Explain in detail.

d) What are the factors influencing pricing strategy of goods and services?

eeeem
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Total No. of Questions : 4]

[6036]-SODL-1019
M.Com.-I

118 : CONSUMER BEHAVIOUR AND SERVICES MARKETING
(2019 CBCS Pattern)

(‘amR>r ê$nm§Va)
 doi : 3 Vmg]      [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZnÌrH$m nhmdr.

P4511

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [10]

A) J«mhH$ dV©ZmMm AW© H$m¶ Amho?

~) J«mhH$ àoaUoMm CÔoe H$m¶ Amho?

H$) J«mhH$ ì¶{º$‘ÎdmMo KQ>H$ H$moUVo AmhoV?

S>) J«mhH$ {eH$Uo g§H$ënZm g‘OmdyZ gm§Jm.

B) dñVy Am{U godm§Mo ‘yë¶ åhUOo H$m¶?

’$) godm {dnUZ {‘l åhUOo H$m¶?

¶) J«mhH$ g‘mYmZmMr ì¶m»¶m n[a^m{fV H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [20]

A) J«mhH$ àoaUoMr JaO g‘OmdyZ gm§Jm.

~) {dnUZ {‘l åhUOo H$m¶, Ë¶mMo à‘wI KQ>H$ H$moUVo AmhoV?

H$) godm {dnUZmV ^m¡{VH$ nwamì¶mMr ŷ{‘H$m H$m¶ Amho?

S>) J«mhH$m§À¶m dV©ZmMo Am{W©H$ ‘m°S>ob g‘OmdyZ gm§Jm.

B) godm {dnUZ {‘l‘Ü¶o Om[hamVrMr ŷ{‘H$m H$m¶ Amho?

’$) godm JwUdÎmm H$er ‘moObr OmVo?

m
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [20]
A) J«mhH$ d¥ÎmrMo VrZ KQ>H$ H$moUVo AmhoV?
~) dñVy Am{U godm§‘Yrb ’$aH$ ñnï> H$am.
H$) àoaUm g§Kfmªda ‘mV H$aÊ¶mMo ‘mJ© g‘OmdyZ gm§Jm.
S>) Cng§ñH¥¥$Vr J«mhH$m§À¶m ng§Vrda H$gm n[aUm‘ H$aVmV ¶mMo dU©Z H$am.
B) “godm JwUdÎmm” hm eãX Am{U godm CÚmoJmVrb Ë¶mMo ‘hÎd n[a^m{fV H$am.
’$) ì¶dgm¶ J«mhH$ godoÀ¶m YmaUm à^mdrnUo H$go ì¶dñWm{nV H$ê$ eH$VmV?

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [20]
A) J«mhH$m§À¶m dV©ZmMm Aä¶mg H$aÊ¶mMr Amdí¶H$Vm Am{U ’$m¶Xo ñnï> H$am.
~) J«mhH$m§À¶m dV©UwH$sVrb g§ajU ¶§ÌUm J«mhH$m§À¶m {ZdS>rda H$gm n[aUm‘ H$aVo ho ñnï> H$am.
H$) godm {dnUZmVrb 7 nr H$moUVo? g{dñVa g‘OmdyZ gm§Jm.
S>) dñVy Am{U godm§À¶m qH$‘VrÀ¶m YmoaUmda n[aUm‘ H$aUmao KQ>H$ H$moUVo?

eeee
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Q1) Answer any Five out of the following : [10]

a) What do you mean by Debentures?

b) What is the meaning of Equity Shares?

c) Define Capital Market.

d) What the Longform of BSE?

e) What do you mean by over Capitalization?

f) What is OTCEI?

g) State the longform of SEBI.

Q2) Answer any Four questions out of the following : [20]

a) State the functions of Secondary Market.

b) Explain the importance of Fixed Capital.

c) What are the types of Debentures.

d) Explain the features of Capital Market.

e) Explain the types of shares.

f) What is the need of short term Finance?

Total No. of Questions : 4]

[Total No. of Pages : 4
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201 : BUSINESS FINANCE & CAPITAL MARKET &
FINANCIAL SERVICES
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Time : 3 Hours] [Max. Marks : 70
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1) All questions are compulsory.

2) Figures to the right indicate full marks.
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Q3) Answer any Four questions out of the following : [20]

a) Explain the impact of overcapitalization.

b) State the objectives of SEBI.

c) Explain various financial instruments in Capital Market.

d) What do you mean by Mutual funds? Explain the types of mutual
funds.

e) Explain the functions of Merchant Bank.

f) Explain the importance of working capital.

Q4) Answer any two out of the following : [20]

a) What do you mean by Securities Exchange Board of India (SEBI)?
Explain the characteristics of SEBI.

b) What is Credit Rating? State the importance of Credit Rating.

c) State the difference between Equity Shares and preference shares.

d) What do you mean by Dividend Policy? Explain the External factors
affecting on Dividend Policy.
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Total No. of Questions : 4]

[6036]-SODL-2001

M.Com. (Part - II)

201 : ì`mdgm{`H$ {dÎm Am{U ^m§S>db ~mOma
Am{U {dÎmr` godm

(2019 Pattern)

(_amR>r ê$nm§Va)
doi : 3 Vmg ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-4512

àíZ 1) H$moUVohr nmM àíZ gmoS>dm … [10]

A) H$O© amoIo åhUOo H$m`?

~) gm_mÝ` ^mJ åhUOo H$m`?

H$) ^m§S>db ~mOmamMr ì`m»`m {bhm.

S>) ~r Eg B© (BSE) åhUOo H$m`?

B) A{Y^m§S>dbrH$aU åhUOo H$m`?

\$) Amo Q>r gr B Am` (OTCEI) åhUOo H$m`?

`) go~rMo (SEBI) nyU© ê$n {bhm.

àíZ 2) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm … [20]

A) Xþæ`_ ~mOmamMr H$m`} {bhm.

~) pñWa ^m§S>dbMo _hËd ñnï> H$am.

H$) H$O© amoIm§Mo àH$ma ñnï> H$am.

S>) ^m§S>db ~mOmamMr d¡{eï>ço ñnï> H$am.

B) ^mJm§Mo {d{dY àH$ma ñnï> H$am.

\$) Aën _wXVrÀ`m {dÎm nwadR>`mMr Amdí`H$Vm ñnï> H$am.

3 P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm … [20]

A) A{Y^m§S>dbrH$aUmMo n[aUm_ ñnï> H$am.

~) go~rMr C{Ôï>o ñnï> H$am.

H$) ^m§S>db ~mOmamVrb {d{dY {dÎmr` gmYZo ñnï> H$am.

S>) nañna{ZYr åhUOo H$m`? nañna{ZYrMo àH$ma ñnï> H$am.

B) _MªQ> ~±Ho$Mr H$m`} g{dñVa {bhm.

\$) IoiË`m ^m§S>dbMo _hËd {bhm.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm … [20]

A) à{V ŷVr {d{Z_` _§S>i (SEBI) åhUOo H$m`? à{V ŷVr {d{Z_` _§S>imMr d¡{eï>ço gm§Jm.

~) H«o${S>Q> aoqQ>J åhUOo H$m`? H«o${S>Q> aoqQ>JMo _hËd {bhm.

H$) g_^mJ d AJ« h¸$ ^mJ `mVrb \$aH$ ñnï> H$am.

S>) bm^m§e YmoaU åhUOo H$m`? b^m§e YmoaUmda à^md Q>mH$Umao ~mø KQ>H$ ñnï> H$am.


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[6036]-SODL-2002
M.Com. - II

202 A : RESEARCH METHODOLOGY FOR BUSINESS AND
INDUSTRIAL ECONOMIC ENVIRONMENT

(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4513 [Total No. of Pages : 4
SEAT No. :

Q1) Answer any five questions from the following. [5×2=10]

a) State the nature of a good an effective Research.

b) What is the sampling?

c) What is the importance of scaling?

d) What is Analytical Research Report?

e) What is the economic environment?

f) What is mean primary data?

g) Define Liberalization?

Q2) Answer the following. (any four): [4×5=20]

a) State the characteristics of the hypotheses.

b) Write short notes on the economic environment.

c) Write short notes on secondary data.

d) Explain the impact of liberalization on the Indian industry.

e) Explain the characteristics of a research report.

f) Explain the sugar industria significant role in the economic development
of rural areas.

P.T.O.
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Q3) Answer the following (Any four): [4×5=20]

a) Explain the types of sample selection.

b) What are the methods of testing hypotheses?

c) State the objectives of privatization.

d) Write the characteristics of secondary data.

e) Write a short note on the problems faced by the cotton and textile industry
in India.

f) Explain the importance of the research report.

Q4) Answer the following (Any two) [2×10=20]

a) What is business research? Write characteristics of business research.

b) Explain the steps in the scientific research process.

c) Explain the factors affecting the economic environment.

d) What is the industrial imbalance? Discuss the causes and remedies of
industrial imbalance.


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Total No. of Questions : 4]

[6036]-SODL-2002
M.Com. - II

202 A : RESEARCH METHODOLOGY FOR BUSINESS AND
INDUSTRIAL ECONOMIC ENVIRONMENT

(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4513

à.à.à.à.à.1) EH$m dm³¶mV CÎmao {bhm. (H$moUVohr nmM) [5×2=10]

A) Mm§Jë¶m Am{U à^mdr g§emoYZmMo ñdê$n ñnï> H$am?

~) Z‘wZm åhUOo H$m¶?

H$) ñHo$qbJMo ‘hÎd H$m¶ Amho?

S>) {díbofUmË‘H$ g§emoYZ Ahdmb åhUOo H$m¶?

B) Am{W©H$ n¶m©daU åhUOo H$m¶?

’$) àmW{‘H$ ‘m{hVr åhUOo H$m¶?

¶) CXmarH$aU åhUOo H$m¶?

à.à.à.à.à.2) WmoS>³¶mV CÎmao {bhm. (H$moUVohr Mma) [4×5=20]

A) J¥hrVH$mMr d¡{eï>o gm§Jm.

~) Am{W©H$ n¶m©daU ¶mda WmoS>³¶mV Q>rnm {bhm.

H$) Xþæ¶‘ ‘m{hVr ¶mda Q>rnm {bhm.

S>) CXmarH$aUmMm ^maVr¶ CÚmoJmdarb n[aUm‘ ñnï> H$am.

B) g§emoYZ AhdmbmMr d¡{eï>ço ñnï> H$am.

’$) J«m‘rU ^mJmÀ¶m Am{W©H$ {dH$mgmV gmIa CXçmoJmMr ‘hÎdnyU© ŷ{‘H$m ñnï> H$am.

m
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à.à.à.à.à.3) WmoS>³¶mV CÎmao {bhm. (H$moUVohr Mma) [4×5=20]

A) Z‘wZm {ZdS>rMo àH$ma {bhm.

~) J¥hrVH$mMr MmMUr H$aÊ¶mÀ¶m nÕVr {bhm.

H$) ImgJrH$aUmMo CÔoe gm§Jm.

S>) Xþæ¶‘ ‘m{hVrMr d¡{eï>ço {bhm.

B) ^maVmVrb H$mnyg Am{U dñÌmoÚmoJmbm ôS>gmdUmè¶m g‘ñ¶m§da Q>rnm {bhm.

’$) g§emoYZ AhdmbmMo ‘hÎd ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVohr XmoZ) [2×10=20]

A) ì¶dgm¶ g§emoYZ åhUOo H$m¶? ì¶dgm¶ g§emoYZmMr d¡{eï>ço {bhm.

~) d¡km{ZH$ g§emoYZ à{H«$¶oVrb nm¶è¶m ñnï> H$am.

H$) Am{W©H$ n¶m©daUmda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am.

S>) Am¡Úmo{JH$ Ag‘Vmob åhUOo H$m¶? Am¡Úmo{JH$ Ag‘VmobmMr H$maUo d Cnm¶ ¶mda MMm© H$am.


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Total No. of Questions : 4]

[6036]-SODL-2003
S.Y. M.Com.

202B : RESEARCH METHODOLOGY FOR BUSINESS AND
OPERATIONS RESEARCH

(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4514 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any five out of seven from the following: [5×2=10]

a) Define research.

b) What is a hypothesis?

c) Explain the concept of informational report

d) Explain primary data.

e) Define report.

f) Define linear programming.

g) Define feasible solutions of a transportation.

Q2) Attempt any four out of six from the following: [4×5=20]

a) What are the process involved in formulation research Problem?

b) Differentiate between null & alternative hypotheses.

c) Write note on the methods of collecting primary data.

d) Discuss advantages of Likert-scale.

e) What are the different formats of written reports?

f) Discuss the different elements of technical report.

P.T.O.
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Q3) Attempt any four out of six from the following: [4×5=20]

a) What are the advantages & limitations of Linear programming problem?

b) Explain the dominance principle.

c) What are the phases involved in two phase simplex method?

d) What are the different types of strategies?

e) What is the difference between free float & independent float?

f) Explain balanced and unbalanced traffic problems.

Q4) Attempt any two out of four from the following: [2×10=20]

a) Explain the steps in the research process.

b) Examine the ethical issues in research.

c) Mention the steps of Johnson’s Rules.

d) Explain the graphical methods to solve two jobs on machines with given
technological ordering for each job.

m
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Total No. of Questions : 4]

[6036]-SODL-2003
S.Y. M.Com.

202B : RESEARCH METHODOLOGY FOR BUSINESS AND
OPERATIONS RESEARCH

(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4514

à.à.à.à.à.1) Imbrbn¡H$s gmVn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) g§emoYZ åhUOo H$m¶?

~) J¥hrVH$ åhUOo H$m¶?

H$) ‘m{hVrna AhdmbmMr g§H$ënZm ñnï> H$am.

S>) àmW{‘H$ ‘m{hVr åhUOo H$m¶?

B) Ahdmb åhUOo H$m¶?

’$) aofr¶ àmoJ«mq‘J ì¶m»¶m {bhm?

¶) dmhVwH$sMo ì¶dhm¶© Cnm¶ n[a^m{fV H$am.

à.à.à.à.à.2) Imbrbn¡H$s ghmn¡H$s Mma àíZ gmoS>dm. [4×5=20]

A) g§emoYZ g‘ñ¶m {ZdS>Ê¶mMr à{H«$¶m ñnï> H$am?

~) eyÝ¶ Am{U n¶m©¶r J¥hrVH$m§ ‘Yrb ’$aH$ ñnï> H$am.

H$) àmW{‘H$ ‘m{hVr Jmoim/g§H$bZ H$aÊ¶mÀ¶m nÕVr {bhm.

S>) {bH$Q>©-ñHo$bMo (likert-scale) ’$m¶Xo {bhm.

B) {b{IV Ahdmbm§Mo ñdê$n ñnï> H$am?

’$) Vm§{ÌH$ AhdmbmÀ¶m {d{dY KQ>H$m§da MMm© H$am.
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à.à.à.à.à.3) Imbrbn¡H$s ghmn¡H$s Mma àíZ gmoS>dm. [4×5=20]

A) {b{Z¶a àmoJ«mq‘J g‘ñ¶oMo ’$m¶Xo Am{U ‘¶m©Xm H$m¶ AmhoV?

~) dM©ñdmMo VËd ñnï> H$am.

H$) XmoZ ’o$O {gåßbo³g nÕVr‘Ü¶o H$moUVo Q>ßno g‘m{dï> AmhoV?

S>) aUZrVrMo {d{dY àH$ma ñnï> H$am?

B) ’«$s âbmoQ> Am{U ñdV§Ì âbmoQ>‘Ü¶o H$m¶ ’$aH$ Amho?

’$) g§Vw{bV d Ag§Vw{bV dmhVyH$ g‘ñ¶m ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s Mman¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) g§emoYZ à{H«$¶oVrb nm¶è¶m ñnï> H$am.

~) g§emoYZmVrb Z¡{VH$ ‘wÔ²¶m§Mo narjU H$am.

H$) Om°ÝgZÀ¶m {Z¶‘m§À¶m nm¶è¶m§Mm CëboI H$am.

S>) àË¶oH$ H$m‘mgmR>r {Xboë¶m Vm§{ÌH$ H«$‘mZo ‘erZdarb XmoZ H$m¶} gmoS>dÊ¶mgmR>r J«m{’$H$b nÕVr
ñnï> H$am.


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203: ADVANCED AUDITING AND RECENT ADVANCES
IN ACCOUNTING
Taxation & Auditing

(2019 Pattern)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate marks.

P-4515

Q1) Define the following terms (any 5) : [10]

a) What is Auditing?

b) What is Audit Report?

c) Internal Audit.

d) Computer based Accounting.

e) Artificial Intelligence in Accounting.

f) IPR Accounting.

g) Define the term “Vouching”.

Q2) Write a Short Notes (any 4) : [20]

a) Creative Accounting.

b) IPR Accounting.

c) Indirect Tax.

P.T.O.
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d) Block Chain Accounting.

e) Types of CGCC.

f) CARO 2003.

Q3) Short Answer Questions (any 4) : [20]

a) What is Lean Accounting?

b) Explain the Advantages of HRA.

c) Mention the principles of Corporate Tax Reforms.

d) Role of Big Data in Accounting.

e) What are the aims of vouching tests?

f) Advantages and Disadvantages of Audit Programmes.

Q4) Long Answer Questions (Any 2) : [20]

a) Discuss the advantages of Cloud accounting and the benefits of Cloud
accounting to smaller companies.

b) What is Auditing? Explain the advantages and disadvantages of Auditing.

c) Explain the different types of Audit report based on opinions expressed.

d) What is Inflation Accounting? Discuss the advantages and disadvantages
of Inflation Accounting.


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[6036]SODL-2005
M.Com. (Part-II)

205 : LAWS RELATING TO INTERNATIONAL BUSINESS &
RECENT ADVANCES IN COMMERCIAL LAWS AND

PRACTICES
(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:
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P-4516

Q1) Attempt any five out of seven from the following: [5 × 2 = 10]
a) What is International Law?

b) What is codification of International Law?

c) What is multinational corporation?

d) State the Hamburg rule.

e) Write 2 Objectives of Confederation of Indian Industry (CII).

f) Define Special Economic Zone.

g) Define Globalisation.

Q2) Attempt any four out of six from the following: [4 × 5 = 20]
a) Write scope of International Law.

b) State the several contribution to international law that India has made.

c) Describe the five main drivers of globalisation.

d) State an advantages and disadvantages of International trade.

e) What are the functions of Competition Commission under Competition Act.

f ) Why was the need felt the Securitization & Reconstruction of Financial
Assets and Enforcement of Security Interest Act?

SEAT No. :
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Q3) Attempt any four out of six from the following: [4 × 5 = 20]
a) Write scope and objectives of International Business.
b) What are the major recommendation of the Alexander Committee.
c) Explain the important characteristics of International Commercial

Arbitration.
d) What are objectives of Special Economic Zones?
e) Describe the functions of the Chairperson of the Appellate Tribunal.
f) Write a note on Balance of Payment.

Q4) Attempt any two out of four from the following: [2 × 10 = 20]
a) Explain the various non-tariff barriers of International trade.
b) Analyse India's trade policy in pre-reforms and post-reforms periods.
c) Describe the procedure of setting up Special Economic Zone by a

developer.
d) Explain the various mode of recovery of debt from the defendents

according to the Act.


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Total No. of Questions : 4]

[6036]SODL-2005
M.Com. (Part-II)

205 : LAWS RELATING TO INTERNATIONAL BUSINESS &
RECENT ADVANCES IN COMMERCIAL LAWS AND

PRACTICES
(2019 Pattern)

(_amR>r ê$nm§Va)
doi : 3 Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-4516

àíZ 1) Imbrb gmVn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]
A) Am§Vaamï´>r¶ H$m¶Xm åhUOo H$m¶?

~) Am§Vaamï´>r¶ H$m¶XçmV H$mo{S>{’$Ho$eZ H$m¶ Amho?

H$) ~hþamï´>r¶ {ZJ‘/‘hm‘§S>i åhUOo H$m¶?

S>) h°å~J© {Z¶‘ gm§Jm.

B) ^maVr¶ CXçmoJ ‘hmg§KmMr (CII) Mr XmoZ C{Ôï>o {bhm.

\$) {deof Am{W©H$ joÌ ì¶m»¶m gm§Jm.

`) OmJ{VH$sH$aUmMr ì¶m»¶m gm§Jm.

àíZ 2) Imbrb ghmn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]
A) Am§Vaamï´>r¶ H$m¶XçmMr ì¶már gm§Jm.

~) ^maVmZo Am§Vaamï´>r¶ H$m¶XçmV Ho$bobo ¶moJXmZ gm§Jm.

H$) OmJ{VH$sH$aUmÀ¶m nmM ‘w»¶ MmbH$m§Mo (Drivers) Mo dU©Z H$am.

S>) Am§Vaamï´>r¶ ì¶mnmamMo ’$m¶Xo Am{U VmoQ>o {bhm.

B) à{VñnYm© H$m¶Xm A§VJ©V Am¶moJmMr H$m¶©o ñnï> H$am.

\$) Am{W©H$ ‘mb‘ÎmoMo gwa{jVrH$aU Am{U nwZ©~m§YUr Am{U gwajm H$m¶Xm bmJw H$aÊ¶mMr
JaO H$m hmoVr Vo ñnï> H$am.

P.T.O.
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àíZ 3) Imbrb ghmn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) Am§Vaamï´>r¶ ì¶mnmamMr ì¶már Am{U C{Ôï>o {bhm.

~) A°bo³Pm§S>a g{‘VrÀ¶m à‘wI {e’$maer H$m¶ AmhoV Vo gm§Jm.

H$) Am§Vaamï´>r¶ ì¶mdgm{¶H$ bdmXmMr ‘hÎdmMr d¡{eï>¶o ñnï> H$am.

S>) {deof Am{W©H$ joÌ H$m¶X¶mMr C{Ôï>o H$m¶ AmhoV?

B) Anrbr¶ Ý¶m¶m{YH$aUmÀ¶m AÜ¶jm§À¶m H$m¶m©Mo dU©Z H$am.

\$) Xo¶H$ {e„H$ (Balance of Payment) da Q>rn {bhm.

àíZ 4) Imbrb Mman¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) Am§Vaamï´>r¶ ì¶mnmamVrb {d{dY J¡a-ewëH$ AS>Wio (Non-tariff Barriers) ñnï> H$am.

~) gwYmaUmnyd© Am{U gwYmamoÎma H$mimV ^maVmÀ¶m ì¶mnma YmoaUmMo {dûcofU H$am.

H$) {dH$mgH$mÛmao {deof Am{W©H$ joÌ ñWmnZ H$aÊ¶mÀ¶m à{H«$¶oMo dU©Z H$am.

S>) H$m¶XçmZwgma à{VdmXtH$Sy>Z dgwb H$aÊ¶mÀ¶m {d{dY nX²YVr ñnï> H$am.


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Q1) Attempt any five out of seven from the following. [5 × 2 = 10]

a) Define the term GST.

b) What do you mean by Social Audit?

c) What is E-costing?

d) Define the term six sigma.

e) What do you mean by Cost Accounting standard?

f) Explain the concept of lean manufacturing

g) Define the term Cost Audit.

Q2) Attempt any four out of six from the following. [4 × 5 = 20]

a) Explain the difference between Notes and Qualifications.

b) What are the Advantages of ERP?

c) Write a short note on - Robotics in manufacturing.

d) Explain the features of GST Audit Tool.

e) Explain the principles set by Cost Accounting Standard - 24.

f) Explain the benefits of six sigma.

Total No. of Questions : 4]

[Total No. of Pages : 2
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Q3) Attempt any four out of six from the following. [4 × 5 = 20]

a) Write short note on - Total Quality Management.

b) Explain scope of GST Audit.

c) Explain the difference between Financial Audit & Cost Audit.

d) Write short note on - CAS - 2 Cost Accounting standard on capacity
determination.

e) Explain the procedure for appointment of Cost Auditor.

f) Explain the essential features of XBRL.

Q4) Attempt any two out of four from the following. [2 × 10 = 20]

a) What is Kaizen Techniques & Explain the principles of Kaizen.

b) What is the pollution control cost? Analyse the principle for measurement
of Pollution Control Cost.

c) What is an ERP & Explain benefits of ERP.

d) What do you mean by artificial intelligence (AI) of Six Sigma.


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Q1) Attempt any five out of seven from the following : [10]

a) What are Non-professional Mahajans?

b) What is Medium Term Credit?

c) What is the primary responsibility of India’s rural cooperative banks
(RCBs)?

d) Mention any two weaknesses of PACS.

e) Which states are most affected by farmers suicide in India?

f) Define cooperation.

g) When did the consumer cooperative movement begin?

Q2) Attempt any four out of six from the following : [20]

a) What are the non-institutional sources of agricultural credit?

b) What are the various purposes of long term credit?

c) Write a short note on the DCC banks.

d) State the functions of NABARD.

e) Explain any two principles of cooperatives.

f) What is the difference between immediate and eventual objectives?

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Attempt any four out of six from the following : [20]

a) What are the basic principles of microfinance?

b) What are Eco-Mobility Schemes?

c) What is the current scenario of cooperative institutions in India?

d) What are the disadvantages of short term loans?

e) How does cooperative leadership work in the global era?

f) Write a short-note on the formation of rural cooperative banks.

Q4) Attempt any two out of four from the following : [20]

a) Comment on the reports of various committees regarding farmer’s
suicides.

b) Discuss the significance of institutional credit in detail.

c) Comment on the working of housing cooperatives and their federations

d) Describe the advantages and disadvantages of medium term credit.


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Total No. of Questions : 4]

[6036]-SODL-2007
S.Y. M.Com.

209 : CO-OPERATIVE CREDIT SYSTEM AND RECENT
ADVANCES IN CO-OPERATIVE AND RURAL

DEVELOPMENT
(2019 Pattern)
(_amR>r ê$nm§Va)

doi : 3 Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

P-4518

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVohr nmM) … [10]

A) Aì`mdgm{`H$ _hmOZ åhUOo H$m`? (Non-professional Mahajans)

~) _Ü`_ _wXVrMo H$O© åhUOo H$m`?

H$) ^maVmVrb J«m_rU ghH$mar ~±H$m§Mr àmW{_H$ O~m~Xmar H$moUVr?

S>) PACS Mo H$moUVohr XmoZ Hw$_Hw$dVnUm {bhm?

B) ^maVmVrb eoVH$ar AmË_hË ò_wio H$moUVr amÁ ò gdm©{YH$ à^m{dV AmhoV?

\$) ghH$mamMr ì`m»`m {bhm.

`) J«mhH$ ghH$mar Midi H$Yr gwê$ Pmbr?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVohr Mma) … [20]

A) H¥$fr H$Om©Mo J¡a-g§ñWmË_H$ òmoV H$moUVo AmhoV?

~) XrK©H$mbrZ H$Om©Mo CÔoe {bhm.

H$) DCC ~±Ho$da g§{já {Q>n {bhm.

S>) NABARD Mo H$m ©̀ {bhm.

B) ghH$mamMr H$moUVrhr XmoZ VÎdo ñnï> H$am.

\$) VmËH$mi Am{U A§{V_ C{Ôï>m§_Yrb \$aH$ {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVohr Mma) … [20]

A) _m`H«$mo\$m`ZmÝgMr (Microfinance) _yb ŷV VÎdo {bhm.

~) BH$mo-_mo{~br{Q> (Eco-Mobility Scheme) åhUOo H$m`?

H$) ^maVmVrb ghH$mar g§ñWm§Mr gÜ`mMr n[apñWVr ñnï> H$am.

S>) Aën _wXVrÀ`m H$Om©Mo VmoQ>o {bhm.

B) OmJ{VH$ ẁJmV ghH$mar ZoV¥Îd H$go H$m ©̀ H$aVo?

\$) J«m_rU ghH$mar ~±H$m§À`m {Z{_©Vrda EH$ N>moQ>r Q>rn {bhm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVohr XmoZ) … [20]

A) eoVH$ar AmË_hË`m§~m~V {d{dY g{_Ë`m§À`m Ahdmbm§da ^mî` H$am.

~) g§ñWmË_H$ H$Om©Mo _hÎd Vnerbdma MMm© H$am.

H$) J¥h{Z_m©U ghH$mar g§ñWm Am{U Ë`m§À`m _hmg§KmÀ`m H$m`m©Mo dU©Z H$am.

S>) _Ü`_ _wXVrÀ`m H$Om©Mo \$m`Xo-VmoQ>o ñnï> H$am.


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Q1) Solve any 5 out of 7 : [5 × 2 = 10]

a) MSME is defined under which act?

i) MSMED Act, 1999 ii) MSMED Act, 2006

iii) MSME Act, 2001 iv) MSME Act, 2004

b) The process of creating something new is called ___________

i) Creative flexibility ii) Management

iii) Business iv) Innovation

c) Full form of RGUMI.

i) Rajeev Gandhi Udyog Mitra Scheme

ii) Rajeev Gandhi Udyami Mitra Scheme

iii) Rajeev Gandhi Udyami Mudra Scheme

iv) Rajeev Gandhi Udyog Mudra Scheme

d) Many entrepreneurs choose to start businesses by themselves because :

i) The want of uncontested control

ii) Coordination is less complicated

iii) Profits will go only to the founder

iv) All of the above

Total No. of Questions : 4]
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e) Prime Minister Employment Generation Programme (PMEGP) scheme
was launched in _________.

i) 2005 ii) 2006

iii) 2007 iv) 2008

f) Importance of Entrepreneurship includes ____________.

i) Economic & dynamic activity

ii) Innovation & Profit potential

iii) Risk bearing

iv) All of these

g) Why are small businesses important to a country’s economy?

i) They give an outlet for entrepreneurs

ii) They can provide specialist support to larger companies

iii) They can be innovators of new products

iv) All the above

Q2) Solve any 4 out of 6 : [4 × 5 = 20]

a) What are the main sources of information of business opportunity?

b) Describe the process of entrepreneurship in detail.

c) What are the objectives of the Maharashtra New Industrial Policy, 2019?

d) What are the main objectives of Service Training Institute (STIs)?

e) What are the conditions that motivate people to start a new business?

f) What is good corporate governance?

Q3) Solve any 4 out of 6 : [4 × 5 = 20]

a) What are the provisions for Large Scale Industries (LSIs) according to
Maharashtra New Industrial Policy, 2019?

b) What are the sources of achievement motivation?

c) Write a short note on the Micro and Small Enterprises Cluster
Development Programme.

d) Briefly explain the significance and types of secondary data.

e) What are the components of Labour Market Information Cell (LMIC)?

f) Explain Meaning and features of entrepreneurship.

m
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Q4) Solve any 2 out of 4 : [2 × 10 = 20]

a) Explain the factors affecting the economic environment for
entrepreneurship

b) Explain the different skills and qualifications that are deemed necessary
for an entrepreneurship trainer

c) Discuss the retail policy as envisaged by the Maharashtra government.

d) Evaluate the steps taken by the government to fight COVID-19
lockdown effects.


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Total No. of Questions : 4]

[6036]-SODL-2008

S.Y. M.Com.

211 : ENTREPRENEURIAL BEHAVIOUR AND RECENT
ADVANCES IN BUSINESS PRACTICES AND

ENVIRONMENT

(2019 Pattern)

(_amR>r ê$nm§Va)
doi : 3 Vmg ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-4519

àíZ 1) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [5 × 2 = 10]

A) E_ Eg E_ B© (MSME) Mr ì`m»`m H$moUË`m H$m`Úm§VJ©V Ho$br OmVo?

i) E_ Eg E_ B© S>r (MSMED) H$m`Xm, 1999

ii) E_ Eg E_ B© S>r (MSMED) H$m`Xm, 2006

iii) E_ Eg E_ B© (MSME) H$m`Xm, 2001

iv) E_ Eg E_ B© (MSME) H$m`Xm, 2004

~) H$mhrVar ZdrZ V`ma H$aÊ`mÀ`m à{H«$`obm .............. åhUVmV.

i) gO©Zerb bd{MH$Vm ii) ì`dñWmnZ

iii) ì`dgm` iv) ZmdrÝ`

H$) RGUMI Mo nyU© ê$n …

i) Rajeev Gandhi Udyog Mitra Scheme

ii) Rajeev Gandhi Udyami Mitra Scheme

iii) Rajeev Gandhi Udyami Mudra Scheme

iv) Rajeev Gandhi Udyog Mudra Scheme

4 P.T.O.
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S>) AZoH$ CÚmoOH$ ñdV… ì`dgm` gwê$ H$aUo {ZdS>VmV H$maU …

i) Ë`m§Zm {Z{d©dmX {Z`§ÌU hdo AgVo

ii) Ë`m§Zm g_Ýd` H$_r pŠbï> Amho

iii) Ë`m§Zm Z\$m \$º$ g§ñWmnH$mH$S>o OmB©b

iv) darb gd©

B) n§VàYmZ amoOJma {Z{_©Vr H$m ©̀H«$_ (PMEGP) ̀ moOZm ................. _Ü`o gwê$ H$aÊ`mV
Ambr.

i) 2005 ii) 2006

iii) 2007 iv) 2008

\$) CÚmoOH$Vo_Ü`o ................. _hÎdmMo Amho.

i) Am{W©H$ Am{U J{V_mZ {H«$`mH$bmn

ii) ZdH$ënZm Am{U Z\$m j_Vm

iii) OmoIr_ nËH$aUo

iv) darb gd©

`) XoemÀ`m AW©ì`dñWogmR>r N>moQ>o ì`dgm` _hÎdmMo H$m AmhoV?

i) Vo CÚmoOH$m§gmR>r EH$ AmCQ>boQ> XoVmV

ii) Vo _moR>çm H§$nÝ`m§Zm {deofk g_W©Z XoD$ eH$VmV

iii) Vo ZdrZ CËnmXZm§Mo ZdH$ënH$ Agy eH$VmV

iv) darb gd©

àíZ 2) Imbrbn¡H$s H$moUVohr 4 àíZ gmoS>dm. [4 × 5 = 20]

A) ì`dgm` g§YrÀ`m _m{hVrMo _w»` ómoV H$moUVo AmhoV?

~) CÚmoOH$VoÀ`m à{H«$`oMo Vnerbdma dU©Z H$am.

H$) 2019 Mo _hmamï>́ ZdrZ Am¡Úmo{JH$ YmoaUmMr C{Ôï>o H$m` AmhoV?

S>) godm à{ejU g§ñWm (STIs) Mo _w»` C{Ôï>o ñnï> H$am?

B) ZdrZ ì`dgm` gwê$ H$aÊ`mgmR>r bmoH$m§Zm àd¥Îm H$aUmè`m H$moUË`m n[apñWVr AmhoV?

\$) Mm§Jbo H$m°nm}aoQ> JìhZ©Ýg åhUOo H$m`?
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àíZ 3) Imbrbn¡H$s H$moUVohr 4 àíZ gmoS>dm. [4 × 5 = 20]

A) 2019 Mo ZdrZ _hmamï´> Am¡Úmo{JH$ YmoaUmZwgma _moR>o CÚmoJ (LSIs) gmR>r H$m` VaVwXr
AmhoV?

~) {gÕr àoaUm ómoV H$moUVo AmhoV?

H$) gyú_ Am{U bKw CÚmoJ, g_yh {dH$mg H$m`©H«$_mda Q>rn {bhm.

S>) Xþæ`_ S>oQ>mMo _hÎd Am{U àH$ma WmoS>Š`mV ñnï> H$am.

B) l_ ~mOma _m{hVr gob (LMIC) Mo KQ>H$ H$moUVo AmhoV?

\$) CÚmoOH$VoMm AW© Am{U d¡{eï>ço gm§Jm.

àíZ 4) Imbrbn¡H$s H$moUVohr 2 àíZ gmoS>dm. [2 × 10 = 20]

A) CÚmoOH$VoÀ`m Am{W©H$ dmVmdaUmda n[aUm_ H$aUmao KQ>H$ ñnï> H$am.

~) CÚmoOH$Vm à{ejH$mgmR>r Amdí`H$ AgUmar {d{dY H$m¡eë`o Am{U nmÌVm ñnï> H$am.

H$) _hmamï>́ gaH$maZo n[aH$pënV Ho$boë`m {H$aH$moi YmoaUmMr MMm© H$am.

S>) H$mo{dS>-19 bm°H$S>mCZ à^mdm§er bT>Ê`mgmR>r gaH$maZo CMbboë`m nmdbm§Mo _yë`_mnZ
H$am.

m
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P4520 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any five out of seven from the following. [5×2=10]

a) What is mean by human resource management?

b) What is mean by Globalization?

c) What is mean by HR planning?

d) What is mean by Recruitment?

e) What is mean by Training?

f) What is mean by Innovation management.

g) What is mean by change management.

Q2) Attempt any four out of six from the following: [4×5=20]

a) State the objectives of human resource management.

b) Steps in the process of selection.

c) Write short note on cross cultural management.

d) Write a note on interviews.

e) Write note on Appraisal Errors.

f) Explain the role of biometrics in HR management.

P.T.O.
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Q3) Attempt any four out of six from the following: [4×5=20]

a) State the functions of human resource management.

b) Write note on customer centric approach.

c) Write short note on global management system.

d) Explain the techniques prerequisite for success.

e) Explain the principles of change management.

f) Explain the role of acquisation and merger.

Q4) Attempt any two out of four from the following. [2×10=20]

a) Explain the key steps in innovation management.

b) Explain the current trends in acquisation and mergers on national scenario.

c) Explain the different methods of training.

d) What is E-Human Resource? Explain its advantages and disadvantages.


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Total No. of Questions : 4]

[6036]-SODL-2009

M.Com. (Part - II)
213 : HUMAN RESOURCE MANAGEMENT AND RECENT

ADVANCES IN BUSINESS ADMINISTRATION
(2019 CBCS Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àý gmoS>dUo Amdí¶H$.

2) COdrH$S>rb A§H$ nyU© JwU Xe©dVmV.

à.à.à.à.à.1) Imbrb àým§n¡H$s H$moUVohr nmM àý gmoS>dm. [5×2=10]

A) ‘mZd g§gmYZ ì¶dñWmnZ åhUOo H$m¶?

~) OmJ{VH$sH$aU åhUOo H$m¶?

H$) ‘mZd g§gmYZ {Z¶moOZ åhUOo H$m¶?

S>) ^aVr åhUOo H$m¶?

B) à{ejU åhUOo H$m¶?

’$) ZdmonH«$‘ ì¶dñWmnZ åhUOo H$m¶?

¶) ~Xb ì¶dñWmnZ åhUOo H$m¶?

à.à.à.à.à.2) Imbrb ghm àým§n¡H$s H$moUË¶mhr Mma àým§Mr CÎmao Úm. [4×5=20]

A) ‘mZdr g§gmYZ ì¶dñWmnZmMr C{Ôï>o gm§Jm.

~) {ZdS> à{H«$¶oVrb nm¶a²¶m ñnï> H$am.

H$) Am§Va gm§ñH¥${VH$ ì¶dñWmnZ Q>rn {bhm.

S>) ‘wbmIV Q>rn {bhm.

B) ‘yë¶m§H$Z ÌwQ>tda Q>rn {bhm.

’$) ‘mZd g§gmYZ ì¶dñWmnZmVrb ~m¶mo‘o{Q´>³gMr ŷ{‘H$m ñnï> H$am.
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à.à.à.à.à.3) Imbrb ghm àým§n¡H$s Mma àým§Mr CÎmao Úm. [4×5=20]

A) ‘mZd g§gmYZ ì¶dñWmnZmMr H$m¶} gm§Jm.

~) J«mhH$ H|${ÐV Ñï>rH$moZ Q>rn {bhm.

H$) OmJ{VH$ ì¶dñWmnZ àUmbr ñnï> H$am.

S>) ¶eñdr pñWË¶§Va ì¶dñWmnZmgmR>r Amdí¶H$ nyd©pñWVr ñnï> H$am.

B) ~Xb ì¶dñWmnZmMr VËdo ñnï> H$am.

’$) g§nmXZ Am{U {d{bZrH$aUmMr ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.4) Imbrb Mma àým§n¡H$s XmoZ àým§Mr CÎmao Úm. [2×10=20]

A) ZdmonH«$‘ ì¶dñWmnZ à{H«$¶oVrb nm¶è¶m ñnï> H$am.

~) amï´>r¶ ñVamda g§nmXZ Am{U {d{bZrH$aUmMo gÜ¶mMo àdmh ñnï> H$am.

H$) à{ejUmÀ¶m {d{dY nÕVr ñnï> H$am.

S>) B©-‘mZdr g§gmYZ åhUOo H$m¶? Ë¶mMo ’$m¶Xo Am{U VmoQ>o ñnï> H$am.



m
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Total No. of Questions : 4]

[6036]-SODL-2010

S.Y. M.Com.
215 : FOREIGN EXCHANGE AND RECENT ADVANTAGES IN

BANKING AND FINANCE
(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P4521 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any five [10]

a) Define spot market?

b) Define Non - Resident External Account?

c) Write definition of import export bank?

d) Explain meaning of core banking?

e) Write the definition of money market?

f) Define bill of exchange?

g) What is the secondary market?

Q2) Attempt any four [20]

a) Explain the Swift features?

b) Write a short note on Foreign Exchange Management Act (FEMA)?

c) Write a short note on Export Import Bank (EXIM)?

d) Explain what is dealing room and its importance?

e) Write note on insurance policy?

f) Write meaning of Debit card and its benefits?

P.T.O.
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Q3) Attempt any four [20]

a) Explain the money market and money market mutual fund?

b) Write National Electronic Fund Transfer (NEFT) Benefits?

c) Write a short note on over - the - counter exchange of India?

d) Define meaning of credit card and explain its any three features?

e) What does invoice briefly explain.

f) Write a short note on Initial Public Offering (IPO)?

Q4) Attempt any two [20]

a) Explain the characteristics of foreign exchange market?

b) State the financial inclusion and its benefits?

c) Explain the risks of foreign exchange market?

d) Explain the objectives of Basel Committee III?


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Total No. of Questions : 4]

[6036]-SODL-2010

S.Y. M.Com.
215 : FOREIGN EXCHANGE AND RECENT ADVANTAGES IN

BANKING AND FINANCE
(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àý Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) H$moUVohr nmM àý gmoS>dm. [10]

A) hOa ~mOma (Spot Market) åhUOo H$m¶?

~) A{Zdmgr ~mø ImVo (NRI A/C) åhUOo H$m¶?

H$) Am¶mV {Z¶m©V ~±H$ (EXIM Bank) ì¶m»¶m {bhm.

S>) H$moAa ~±{H$J (Core Banking) AW© gm§Jm.

B) ZmUo~mOma (Money Market) ì¶m»¶m {bhm.

’$) hþ§S>r (Bill of Exchange) åhUOo H$m¶?

¶) Xþæ¶‘ ~mOma (Secondary Market) åhUOo H$m¶?

à.à.à.à.à.2) H$moUVohr Mma àý gmoS>dm. [20]

A) pñdâQ> d¡{eï>o gm§Jm.

~) {dXoer {d{Z‘¶ ì¶dñWmnZ H$m¶Xm (FEMA) Q>rn {bhm.

H$) Am¶mV {Z¶m©V ~±H$ (EXIM) Q>rn {bhm.

S>) S>rqbJ ê$‘ åhUOo H$m¶ Am{U Ë¶mMo ‘hÎd ñnï> H$am.

B) {d‘m nÌ Q>rn {bhm.

’$) S>o{~Q> H$mS>© AW© gm§JyZ Ë¶mMo ’$m¶Xo {bhm.

P4521
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à.à.à.à.à.3) H$moUVohr Mma àý gmoS>dm. [20]

A) ZmUo~mOma g§H$ënZm gm§JyZ ZmUo~mOma nañna {ZYr WmoS>³¶mV ñnï> H$am.

~) amï´>r¶ Bbo³Q´>mo{ZH$ {ZYr hñVm§VaU (NEFT) ’$m¶Xo {bhm.

H$) Amoìha X H$mC§Q>a E³gM|O Am°’$ B§{S>¶m ì¶m»¶m {bhÿZ Ë¶mda Q>rn {bhm.

S>) H«o${S>Q> H$mS>© AW© gm§JyZ H$moUVohr VrZ d¡{eï>ço {bhm.

B) {~OH$ åhUOo H$m¶ WmoS>³¶mV ñnï> H$am.

’$) àma§{^H$ gmd©O{ZH$ An©U (IPO) Q>rn {bhm.

à.à.à.à.à.4) H$moUVohr XmoZ àý gmoS>dm. [20]

A) naH$s¶ {d{Z‘¶ ~mOmamMr d¡{eï>ço ñnï> H$am.

~) Am{W©H$ g‘mdoeH$ g§H$ënZm gm§JyZ {dÎmr¶ g‘mdoemMo ’$m¶Xo gm§Jm.

H$) naH$s¶ {d{Z‘¶ ~mOmamVrb YmoHo$ ñnï> H$am.

S>) ~ogb g{‘Vr III Mo C{Ôï>o ñnï> H$am.

  

m
unote

s.i
n



Total No. of Questions : 4]

[6036]-SODL-2011

M.Com. - II
217 : INTERNATIONAL MARKETING AND RECENT

ADVANCES IN MARKETING
(2019 Pattern) (CBCS)

Time : 3 Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right side indicate full marks.

P4522 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any five out of seven from the following. [5×2=10]

a) What is International Marketing?

b) State the meaning of Financial Indicator?

c) What is International Marketing Mix?

d) Why the documentation is important in Import - Export Business?

e) State the meaning of Marketing Strategy.

f) State the corporate strategy of Banco de Brasil.

g) Explain Digital Marketing in short.

Q2) Attempt any four out of six from the following: [4×5=20]

a) Explain the role of Customer in service delivery.

b) Describe the reasons of entry in International Marketing.

c) Discuss the Economic Factors affecting International Marketing.

d) State the factors which influence international price determination.

e) What are the facilities are provided by RBI and EXIM Bank in Foreign
Exchange?

f) What are the various types of Marketing Strategy?

P.T.O.
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Q3) Attempt any four out of six from the following: [4×5=20]

a) What type of fund based assistance are provided to exporters in India?

b) Explain the importance of Sustainable Marketing.

c) Explain some of the popular e-marketing websites.

d) State the categories of nature of interaction between customer and service
organization.

e) Discuss the scope of International Marketing.

f) Write a note on Microeconomic Environment.

Q4) Attempt any two out of four from the following. [2×10=20]

a) Explain the role of Modern Marketing Manager in the era of Digital
Marketing with specific reference to Social Media Management and Social
Media Audit.

b) Explain in detail the stages of International Marketing Development and
Environment.

c) Define Sustainable Marketing. Explain the ethical issues related to
sustainable marketing.

d) Describe the procedure for establishing customer - defined service
standards.


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Total No. of Questions : 4]

[6036]-SODL-2011

M.Com. - II
217 : INTERNATIONAL MARKETING AND RECENT

ADVANCES IN MARKETING
(2019 Pattern) (CBCS)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àý A{Zdm¶© AmhoV.

2) COì¶m ~mOyMo AmH$S>o nyU© JwU Xe©dVmV.

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr 5 àý gmoS>dm. [5×2=10]

A) Am§Vaamï´>r¶ {dnUZ åhUOo H$m¶?

~) {d{Îm¶ gyMH$ åhUOo H$m¶?

H$) Am§Vaamï´>r¶ {dnUZ {‘l åhUOo H$m¶?

S>) Am¶mV - {Z¶m©V ì¶dgm¶mV XñVEodOrH$aU ‘hÎdmMo H$m Amho?

B) {dnUZ ì¶yhaMZoMm AW© gm§Jm.

’$) ~±H$mo S>r ~«m{gbMr H$m°nm}aoQ> aUZrVr gm§Jm.

¶) {S>{OQ>b ‘mH}$qQ>J WmoS>³¶mV ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr 4 àý gmoS>dm. [4×5=20]

A) godm {dVaUm‘Ü¶o J«mhH$mMr ŷ{‘H$m ñnï> H$am.

~) Am§Vaamï´>r¶ {dnUZm‘Ü¶o àdoemMr H$maUo gm§Jm.

H$) Am§Vaamï´>r¶ {dnUZmda n[aUm‘ H$aUmè¶m Am{W©H$ KQ>H$m§Mr MMm© H$am.

S>) Am§Vaamï´>r¶ {H$‘VrÀ¶m {ZYm©aUmda n[aUm‘ H$aUmao KQ>H$ gm§Jm.

B) Ama. ~r. Am¶. Am{U Ep³P‘ ~±Ho$Ûmao H$moUË¶m naH$s¶ {d{Z‘¶ gw{dYm nwa{dë¶m OmVmV?

’$) {dnUZ ì¶yhaMZoMo {d{dY àH$ma H$moUVo AmhoV?
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à.à.à.à.à.3) H$moUVohr 4 àý gmoS>dm. [4×5=20]

A) ^maVmVrb {Z¶m©VXmam§Zm H$moUË¶m àH$maMr Am{W©H$ ‘XV {Xbr OmVo?

~) emœV {dnUZmMo ‘hÎd ñnï> H$am.

H$) H$mhr bmoH${à¶ B©-‘mH}$qQ>J do~gmBQ²>gMo ñnï>rH$aU Úm.

S>) J«mhH$ Am{U godm g§ñWm ¶m§À¶mVrb nañnag§dmXmÀ¶m ñdê$nmÀ¶m loUr gm§Jm.

B) Am§Vaamï´>r¶ {dnUZmÀ¶m ì¶márMr MMm© H$am.

’$) ‘m¶H«$mo Am{W©H$ n¶m©daU ¶mda g‘J« Q>rn {bhm.

à.à.à.à.à.4) H$moUVohr 2 gmoS>dm. [2×10=20]

A) gmoeb ‘r{S>¶m ì¶dñWmnZ Am{U gmoeb ‘r{S>¶m A§H$joZmÀ¶m {d{eï> g§X^m©gh {S>{OQ>b {dnUZ
¶wJmV AmYw{ZH$ {dnUZ ì¶dñWmnH$mMr ŷ{‘H$m ñnï> H$am.

~) Am§Vaamï´>r¶ {dnUZ {dH$mg Am{U n¶m©daUmÀ¶m Q>ßß¶m§Mo Vnerbdma dU©Z H$am.

H$) emœV {dnUZ Mr ì¶m»¶m Úm. emœV {dnUZmer g§~§{YV Z¡{VH$ g‘ñ¶m ñnï> H$am.

S>) J«mhH$ n[a^m{fV godm ‘mZHo$ ñWm{nV H$aÊ¶mÀ¶m à{H«$¶oMo dU©Z H$am.


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Total No. of Questions : 4]

[6036]-SODL-2012
M.Com. - II

204 : SPECIALISED AUDITING  AND CASE STUDIES
(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

P4523 [Total No. of Pages : 2
SEAT No. :

Q1) Attempt any five of the following. [10]

a) Define the term tax Audit?

b) What is Internal Control?

c) What is Adverse Opinion of Auditor?

d) What is Goods and Services tax?

e) Define the term Internal Audit?

f) What do you mean by urban Credit cooperative Society?

g) What is Form 3CA as per Income Tax Act-1961?

Q2) Attempt any four of the following. [20]

a) Explain the importance of Internal Audit.

b) Explain Tax Audit under Section 44AB of Income tax Act-1961.

c) What is the need of GST Audit?

d) What are the special features of Audit of Cooperatives?

e) Explain the concept of Cooperative Consumer Store?

f) What are the steps in Bank Audit?

P.T.O.
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Q3) Attempt any four of the following. [20]
a) What are the provisions of Audit of cooperative Housing societies?

b) What are the areas of internal Audit?

c) Explain the Verification of assets and liabilities of banking companies.

d) What are the steps to be taken by Auditor in GST Audit?

e) Write down short note-Multistate cooperative Society.

f) What is the necessity of Bank Audit?

Q4) Attempt any two from the following. [20]
a) Explain the GST Audit procedure in detail.

b) What are the Audit provisions mentioned in Multistate cooperative
societies Act-2002?

c) Explain the Salient features of enactments affecting Banks.

d) Define Internal Control. Explain areas of Internal Control.


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Total No. of Questions : 4]

[6036]-SODL-2013

M.Com. - II
206 : WTO - NORMS & PRACTICES AND CASE STUDIES

(2019 Pattern)
Time : 3 Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P4524 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any five out of seven from the following. [5×2=10]

a) Briefly mention the composition of the DSB.

b) Who appoints the Chairperson to the DSB?

c) What is mean by ‘most favorable nation?

d) Dispute Settlement Body - Defination.

e) What is Protectionism?

f) Explain Dunkel Proposal.

g) State Agreement on Agriculture (AoA).

Q2) Attempt any four out of six from the following. [4×5=20]

a) Discuss the merits and demerits of functioning of GATT.

b) What are the two main ways of settling disputes at WTO?

c) Explain the function of World Trade Organization (WTO).

d) Wha are the functions of GATT?

e) What is the meaning of the Green Economy?

f) International Trade and Human Rights under the WTO.

P.T.O.
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Q3) Attempt any four out of six from the following. [4×5=20]

a) State the stages to WTO dispute settlement process.

b) Describe the functions of the WTO.

c) Environmental issues discussed under the WTO.

d) Various significant agreements signed under the WTO.

e) Agreement on Textiles and Clothing (ATC).

f) State the loopholes in the WTO.

Q4) Attempt any two out of four from the following. [2×10=20]

a) Analyse the elements of the Understanding on the rules and procedures
governing the settlement of disputes.

b) Describe the advantages and disadvantages which India gained from the
WTO.

c) How has the WTO increased to the prosperity of the world economy?

d) Explain the objectives and relevance of GATT in detail.

m
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Total No. of Questions : 4]

[6036]-SODL-2013

M.Com. - II
206 : WTO - NORMS & PRACTICES AND CASE STUDIES

(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àý gmoS>dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©dVmV.

à.à.à.à.à.1) Imbrb àým§n¡H$s H$moUVohr nmM àý gmoS>dm. [5×2=10]

A) H$bh {ZdmaU ‘§S>imMr aMZm ñnï> H$am.

~) H$bh {ZdmaU ‘§S>imÀ¶m AÜ¶jmMr Zo‘UyH$ H$moU H$aVo.

H$) ‘moñQ> ’o$ìhao~b ZoeZ åhUOo H$m¶?

S>) H$bh {ZdmaU ~moS>© ì¶m»¶m.

B) g§ajUdmX åhUOo H$m¶?

’$) S>§Ho$b àñVmd åhUOo H$m¶?

¶) OmJ{VH$ ì¶mnma g§KQ>ZoMm H¥$fr{df¶H$ H$ama.

à.à.à.à.à.2) Imbrb ghm àý n¡H$s H$moUË¶mhr Mma àým§Mr CÎmao Úm. [4×5=20]

A) J°Q>À¶m H$m¶m©Mo ’$m¶Xo VmoQ>o gm§Jm.

~) OmJ{VH$ ì¶mnma g§KQ>ZoV dmX {‘Q>dÊ¶mMr XmoZ ‘mJ© gm§Jm.

H$) OmJ{VH$ ì¶mnma g§KQ>ZoMr H$m¶© ñnï> H$am.

S>) J°Q>Mr à‘wI H$m¶© H$moUVr.

B) h[aV AW©ì¶dñWm åhUOo H$m¶.

’$) OmJ{VH$ ì¶mnma g§KQ>Zo A§VJ©V Am§Vaamï´>r¶ ì¶mnma Am{U ‘mZdr h³H$.

P4524
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à.à.à.à.à.3) Imbrb ghm àý n¡H$s Mma àým§Mr CÎmao Úm. [4×5=20]

A) H$bh {ZdmaUÀ¶m à{H«$¶oMo Q>ßno gm§Jm.

~) OmJ{VH$ ì¶mnma g§KQ>ZoMr H$m¶© ñnï> H$am.

H$) OmJ{VH$ ì¶mnma g§KQ>ZoV n¶m©daU {df¶H$ H$ama.

S>) OmJ{VH$ ì¶mnma g§KQ>ZoÀ¶m A§VJ©V ‘§Oya H$aÊ¶mV Ambobo {d{dY H$ama gm§Jm.

B) OmJ{VH$ ì¶mnma g§KQ>ZoMm H$mnS> CÚmoJ {df¶H$ H$ama.

’$) OmJ{VH$ ì¶mnma g§KQ>ZoÀ¶m ‘¶m©Xm ñnï> H$am.

à.à.à.à.à.4) Imbrb Mma àý n¡H$s XmoZ àým§Mr CÎmao Úm. [2×10=20]

A) H$bh{Zdm©h ‘§S>imÀ¶m {d{dY {Z¶‘mMo {díbofU H$am.

~) OmJ{VH$ ì¶mnma g§KQ>ZonmgyZ ^maVmg Pmbobo ’$m¶Xo Am{U VmoQ>o ñnï> H$am.

H$) OmJ{VH$ ì¶mnma g§KQ>Zo‘wio OmJ{VH$ AW©ì¶dñWoV dmT> H$er Pmbr Vo gm§Jm.

S>) J°Q>Mr C{Ôï> Am{U ‘hÎd ñnï> H$am.


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Total No. of Questions : 4]

[6036]-SODL-2014
 M.Com. - II

208 : MANAGEMENT AUDIT AND CASE STUDIES IN
ADVANCED COST ACCOUNTING AND COST SYSTEM

(2019 CBCS Pattern)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.

P4525 [Total No. of Pages : 2
SEAT No. :

Q1) Answer any five questions out of the following. [10]

a) Define the term Management Audit.

b) Explain modern concept of management Audit.

c) What do you mean by First-in- First-Out (FIFO)?

d) What is Social Cost?

e) Explain the meaning of Operational Audit?

f) What do you mean by corporate Image?

g) What is Corporate Culture?

Q2) Answer any four questions out of the following. [20]

a) Write any five functions of Internal Auditor.

b) What do you mean by Office Automation system?

c) Explain the key aspects of corporate Development audit.

d) What are the objectives of Operational Audit?

e) State two ways in which positive corporate image helps companies.

f) What do you mean by Risk based approach?

P.T.O.
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Q3) Answer any four questions out of the following. [20]
a) State the difference between Financial Audit and Cost Audit.

b) Explain the functions of Personal Department.

c) State corporate development Strategy.

d) Write the Evaluation of Operational Audit.

e) Write note on Cost Audit Report.

f) What are the methods of training and Development?

Q4) Answer any two out of the following. [20]
a) What are the different types of Audit?

b) Explain Management Audit Programme.

c) Explain the corporate social responsibilities.

d) What are the sources of Corporate Image?


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Q1) A) Fill in the Blanks: [5]

i) Overdue become NPA after ____________ days.

a) 30 b) 60

c) 90 d) 120

ii) Kisan Card is primarily focused on.

a) Farmer b) Doctor

c) Government d) Business

iii) Bank rate is decided by.

a) RBI b) SBI

c) Central Bank of India d) All of the above

iv) Co-operation word derived from ________ Latin word.

a) Co-operate b) Co-operari

c) Co-operative d) None of the above

v) MSC was established on ________.

a) 1960 b) 1923

c) 1911 d) 1844

B) Write true or False: [5]

i) RBI was established in 1934.

ii) NABARD works for Industrial Development.

iii) MSC Bank came under commercial sector bank.

iv) CRR is determined by SBI.

v) Managing Foreign Exchange is a function of RBI.

P.T.O.
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Q2) Write short notes on any 4 out of the 6 from the following questions: [20]

a) Overdue follow up

b) Kisan Credit cards

c) ANBC

d) Problems of MSC banks

e) NABARD

f) National Housing bank

Q3) Attempt any four out of six from the following. [20]

a) Explain the types of Crop loans.

b) Explain the functions of MSC Banks.

c) Explain the functions of NABARD.

d) Discuss the history of Cooperative banks.

e) What are the uses of crop loans.

f) Explain the vision of NCARDB.

Q4) Attempt any two out of four from the following. [20]

a) Explain in detail the progress and problems of Maharashtra State
Co-operative Banks.

b) Explain the structure of cooperative credit institutions.

c) Discuss the origin and functions of NCARDB.

d) Explain the role of RBI in co-operative credit.


m
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Total No. of Questions : 4]

[6036]-SODL-2015

M.Com. - II
210 : CO- OPERATIVE BANKING SYSTEM AND CASE STUDIES

(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. [5]

i) WH$sV H$O© ..................... {XdgmÀ¶m H$mbmdYrZ§Va {ZpîH«$¶ ‘mb‘ÎmoV g‘m{dï> hmoVo.

A) 30 ~) 60

H$) 90 S>) 120

ii) {H$gmZ H$mS>© àm‘w»¶mZo ............. bj H|${ÐV H$aVo.

A) eoVH$ar ~) S>m°³Q>a

H$) gaH$ma S>) ì¶dgm¶

iii) ~±H$ Xa ....................... X²dmao R>adbo OmVmV.

A) Ama. ~r. Am¶. ~) Eg. ~r. Am¶.

H$) g|Q´>b ~±H$ Am°’$ B§{S>¶m S>) darb gd©

iv) Co-operation hm eãX ....................... b°{Q>Z eãXmnmgyZ V¶ma Pmbobm Amho.

A) Co-operate ~) Co-operari

H$) Co-operative S>) darbn¡H$s H$mhrhr Zmhr

v) MSC Mr ñWmnZm ................. amoOr Pmbr.

A) 1960 ~) 1923

H$) 1911 S>) 1844

P4526
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~) MyH$ {H$ ~amo~a {bhm. [5]

i) RBI Mr ñWmnZm 1934 ‘Ü¶o Pmbr.

ii) Zm~mS>© Am¡X²¶mo{JH$ {dH$mgmgmR>r H$m‘ H$aVo.

iii) E‘Eggr ~±H$ ì¶mdgm{¶H$ joÌmVrb ~±Ho$À¶m A§VJ©V ¶oVo.

iv) CRR SBI  X²dmao {ZYm©[aV Ho$bm OmVmo.

v) naH$s¶ MbZ ì¶dñWm{nV H$aUo ho RBI Mo H$m¶© Amho.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma {Q>nm {bhm. [20]

A) WH$sV H$O© nmR>nwamdm.

~) {H$gmZ H«o${S>Q> H$mS>©.

H$) E. EZ. ~r. gr.

S>) E‘. Eg. gr. ~±H$m§À¶m g‘ñ¶m.

B) Zm~mS>©.

’$) Z°eZb hmD$qgJ ~±H$.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [20]

A) nrH$ H$Om©Mo àH$ma ñnï> H$am.

~) MSC ~±H$m§Mr H$m¶} ñnï> H$am.

H$) Zm~mS>©Mr H$m¶} ñnï> H$am.

S>) ghH$mar ~±H$m§À¶m B{VhmgmMr MMm© H$am.

B) nrH$ H$Om©Mo Cn¶moJ ñnï> H$am.

’$) NCARDB Mr XÿaÑï>r ñnï> H$am.

à.à.à.à.à.4) Imbrb n¡H$s H$moUË¶mhr 2 àíZm§Mr CÎmao g{dñVa ñnï> H$am. [20]

A) ‘hmamï´> amÁ¶ ghH$mar ~±H$m§Mr àJVr Am{U g‘ñ¶m g{dñVanUo gm§Jm.

~) ghH$mar nVg§ñWm§Mr aMZm ñnï> H$am.

H$) NCARDB Mr CËnÎmr Am{U H$m¶} ¶m§Mr MMm© H$am.

S>) ghH$mar H$Om©‘Ü¶o RBI Mr ŷ{‘H$m ñnï> H$am.


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Q1) Attempt any five out of seven from the following. [5×2=10]

a) What is the main goal of technology entrepreneurship?

b) What is Business plan?

c) What do you mean by a Marketing plan?

d) Define the term Commercialization.

e) When was the IFCI Established?

f) What do you mean by creativity?

g) Define the term Innovation.

P.T.O.
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Q2) Attempt any four out of six from the following. [4×5=20]

a) Explain the Importance of Business Plan.

b) Explain role of government in entrepreneurship development.

c) Explain the difference between Creativity and Innovation.

d) Write note on Science technology Entrepreneurship Development.

e) Write note on Industrial Development Bank of India (IDBI).

f) Write note on MITCON.

Q3) Attempt any four out of six from the following. [4×5=20]

a) Explain steps in the Snapdeal evolution journey as internet entrepreneurship.

b) Write a note on Peter Drucker’s Principles of Innovation.

c) Write a short note on Small Industries Development Bank of India (SIDBI).

d) Discuss a case study related to Maharashtra State Financial Corporation

Vs. Suvarna Board Mill.

e) What are the stages involved in the process of innovation?

f) Explain the prerequisites sources of innovation in brief.
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Q4) Attempt any two out of four from the following. [2×10=20]

a) Describe the role of Science Technology and Entrepreneurship
Development.

b) Analyse the role of Maharashtra Industrial Development Corporation
(MIDC) in entrepreneurship development.

c) Analyse the various tools and techniques of creativity used in problem
solving.

d) Read the case study and answer the questions given bellow.

A case study of the Adani Group, of which Gautam Adani is the creator,

explains the notion of entrepreneurship development. Gautam Adani

travelled from Ahmedabad, where he was born, to Mumbai when he was

young. He moved to Mumbai when he was 18 years old, leaving his

family behind. He began his employment at Mahindra Brothers as a

diamond sorter. He created his own diamond brokerage business within

two years of working for Mahindra Brothers after getting the necessary

experience. He made a tremendous profit of about ten lakh rupees in his

first year of the company alone, which was a huge amount in the 1980s.

He subsequently began trading commodities in order to purchase PVC

for his brother’s plastic firm. In the late 1980s, he created Adani

Enterprises. He dealt with commodities relating to agriculture and the

power industry. Adani Group has formed a relationship with Cargill, an

American multinational corporation, with the goal of exporting salt from

Gujarat. The company grew over time, and there was no longer a

partnership. Adani Group now owns around 5,000 acres of land as a

result of this partnership. The policy laws of 1991 allow for possible

adjustments, which has encouraged and stimulated business in India,
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resulting in large profits for the Adani Group. A decision has been made

on a seaport in Gujarat that must be lent to private enterprises. In 1993,

this decision was taken. However, this contract was later awarded to

Adani Group. The group has worked hard to develop the port to the

point where it can now handle approximately 8 crore tonnes of cargo per

year, making it India’s largest private-sector port. Adani made assumptions

about the need for power in the future, which led to the company importing

coal. As a result, Adani decided to enter the power and energy business.

Adani Power Ltd. was founded along these lines. It has now grown to

become one of the largest private thermal power companies in the world,

with a capacity of 4620 MW. According to the most recent figures, Gautam

Adani is India’s 11th richest person, with a net worth of 40 billion dollars

and a workforce of 60,500 workers, according to Forbes 2014.

i) Explain the summary of the above case study.

ii) What are learning outcomes of the above case study?

m
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Total No. of Questions : 4]

[6036]-SODL-2016

S.Y. M.Com.
212 : ENTREPRENEURSHIP AND CASE STUDIES

(CBCS) (2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àý Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb gmVn¡H$s H$moUVohr nmM àý gmoS>dm. [5×2=10]

A) V§ÌkmZ CÚmoOH$VoMo ‘w»¶ C{Ôï> H$moUVo?

~) ì¶dgm¶ ¶moOZm åhUOo H$m¶?

H$) {dnUZ ¶moOZm åhUOo H$m¶?

S>) ì¶mdgm{¶H$aU ¶m eãXmMr ì¶m»¶m Úm.

B) IFCI ¶m ~±Ho$Mr ñWmnZm H|$ìhm Pmbr?

’$) gO©ZerbVm åhUOo H$m¶?

¶) Zm{dÝ¶Vm ¶m eãXmMr ì¶m»¶m H$am.

à.à.à.à.à.2) Imbrb ghmn¡H$s H$moUVohr Mma àý gmoS>dm. [4×5=20]

A) ì¶dgm¶ ¶moOZoMo ‘hÎd ñnï> H$am.

~) CÚmoOH$Vm {dH$mgmV gaH$maMr ŷ{‘H$m ñnï> H$am.

H$) gO©ZerbVm Am{U Zm{dÝ¶Vm ¶mVrb ’$aH$ ñnï> H$am.

S>) {dkmZ V§ÌkmZ Am{U CÚmoOH$Vm {dH$mg ¶mda Q>rn {bhm.

B) B§S>pñQ´>¶b S>oìhbn‘|Q> ~±H$ Am°’$ B§{S>¶m ¶mda Q>rn {bhm.

’$) ‘hmamï´> Am¡Úmo{JH$ Vm§{ÌH$ gb²bmJma g§ñWm (MITCON) ¶mda Q>rn {bhm.
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr ghm n¡H$s Mma àý gmoS>dm. [4×5=20]

A) B§Q>aZoQ> CÚmoOH$Vm åhUyZ ñZ°nS>rbÀ¶m CËH«$m§Vr àdmgmVrb Q>ßno ñnï> H$am.

~) nrQ>a S´>H$aÀ¶m Z{dÝ¶VoÀ¶m VÎdm§da Q>rn {bhm.

H$) ñ‘m°b B§S>ñQ´>rO S>oìhbn‘|Q> ~±H$ Am°’$ B§{S>¶m (SIDBI) da EH$ N>moQ>r Q>rn {bhm.

S>) ‘hmamï´> amÁ¶ {dÎmr¶ ‘hm‘§S>i {d. gwdU© ~moS>© {‘b g§~§{YV Ho$g ñQ>S>rMr MMm© H$am.

B) ZdmonH«$‘mÀ¶m à{H«$¶oV H$moUVo Q>ßno AgVmV?

’$) ZmdrÝ¶nyU©VoMr nyd©-Amdí¶H$Vm ñV«moV WmoS>³¶mV ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr Mma n¡H$s XmoZ àý gmoS>dm. [2×10=20]

A) {dkmZ V§ÌkmZ Am{U CÚmoOH$Vm {dH$mgmÀ¶m ŷ{‘Ho$Mo dU©Z H$am.

~) CÚmoOH$Vm {dH$mgmV ‘hmamï´> Am¡Úmo{JH$ {dH$mg ‘hm‘§S>i (MIDC) À¶m ŷ{‘Ho$Mo {díbofU

H$am.

H$) g‘ñ¶m gmoS>dÊ¶mgmR>r dmnaë¶m OmUmè¶m gO©ZerbVoÀ¶m {d{dY gmYZm§Mo Am{U V§Ìm§Mo {díbofU

H$am.

S>) Ho$g ñQ>S>r dmMm Am{U Imbr {Xboë¶m àýmMo CÎma Úm.

AXmZr g‘yhmMm EH$ Ho$g ñQ>S>r, Á¶mMo {Z‘m©Vm Jm¡V‘ AXmZr AmhoV, CÚmoOH$Vm {dH$mgmMr

H$ënZm ñnï> H$aVo. Jm¡V‘ AXmZr bhmZ AgVmZm Ah‘Xm~mXhÿZ ‘w§~B©bm Jobo, {OWo Ë¶m§Mm OÝ‘

Pmbm. Vmo 18 dfmªMm AgVmZm Amnë¶m Hw$Qw>§~mbm gmoSy>Z ‘w§~B©V Ambm. Ë¶m§Zr ‘qhÐm ~«Xg©‘Ü¶o {hao

emoYyZ H$mT>Ê¶mgmR>r ZmoH$arbm gwédmV Ho$br. ‘qhÐm ~«Xg©gmR>r Amdí¶H$ AZŵ d {‘imë¶mZ§Va

XmoZ dfmªV Ë¶m§Zr ñdV…Mm {ham ~«moH$aoO ì¶dgm¶ V¶ma Ho$bm. EH$Q>çm H§$nZrÀ¶m n{hë¶m dfm©V
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Ë¶m§Zr gw‘mao Xhm bmI én¶m§Mm O~aXñV Z’$m H$‘mdbm, Omo 1980 À¶m XeH$mV Iyn ‘moR>m hmoVm.

Ë¶mZ§Va Ë¶mZo Amnë¶m ^mdmÀ¶m ßbmpñQ>H$ ’$‘©gmR>r nrìhrgr IaoXr H$aÊ¶mgmR>r dñVy§Mm ì¶mnma

H$aÊ¶mg gwédmV Ho$br. 1980 À¶m CÎmamYm©V Ë¶m§Zr AXmZr E§Q>aàm¶PogMr ñWmnZm Ho$br. Ë¶m§Zr

eoVr Am{U drO CÚmoJmer g§~§{YV dñVy§Mm ì¶dhma Ho$bm. JwOamV‘YyZ ‘rR> {Z¶m©V H$aÊ¶mÀ¶m

CÔoemZo AXmZr g‘yhmZo H$ma{Jb ¶m A‘o[aH$Z ~hþamï´>r¶ H§$nZrer g§~§Y àñWm{nV Ho$bo AmhoV.

H§$nZr H$mbm§VamZo dmT>br Am{U ¶mnwT>o ^mJrXmar am{hbr Zmhr. ¶m ^mJrXmar‘wio AXmZr g‘yhmH$S>o

AmVm Odinmg 5,000 EH$a O‘rZ Amho. 1991 Mo YmoaUmË‘H$ H$m¶Xo g§̂ mì¶ g‘m¶moOZmg

nadmZJr XoVmV, Á¶m‘wio ^maVmVrb ì¶dgm¶mbm àmoËgmhZ Am{U CÎmoOZ {‘imbo Amho. n[aUm‘r

AXmZr g‘yhmbm ‘moR>m Z’$m {‘imbm Amho. JwOamV‘Yrb EH$m ~§Xamda ImOJr CÚmoJm§Zm H$O©

{Xbo Omdo Agm {ZU©¶ KoÊ¶mV Ambm Amho. 1993 ‘Ü¶o hm {ZU©¶ KoÊ¶mV Ambm. ‘mÌ, Z§Va ho

H§$ÌmQ> AXmZr g‘yhmbm XoÊ¶mV Ambo. g‘yhmZo ~§XamMm Aem q~Xÿn¶ªV {dH$mg H$aÊ¶mgmR>r H$R>moa

n[al‘ Ho$bo AmhoV {OWo Vo AmVm Xadfu A§XmOo 8 H$moQ>r Q>Z H$mJm©o hmVmiy eH$Vo, Á¶m‘wio Vo

^maVmVrb gdm©V  ‘moR>o ImOJr-joÌmMo ~§Xa ~Zbo Amho. AXmZr ¶m§Zr ̂ {dî¶mV {dOoÀ¶m JaOo~m~V

J¥hrVHo$ ~m§Ybr, Á¶m‘wio H§$nZrZo H$moigm Am¶mV Ho$bm. n[aUm‘r AXmZr ¶m§Zr D$Om© Am{U D$Om©

ì¶dgm¶mV CVaÊ¶mMm {ZU©¶ KoVbm. ¶mM YVuda AXmZr nm°da {b. Mr ñWmnZm Pmbr. Vr AmVm

4620 ‘oJmd°Q> j‘Vogh OJmVrb gdm©V ‘moR>çm ImOJr Am¡pîUH$ D$Om© H§$nÝ¶m§n¡H$s EH$ ~Zbr

Amho. gdm©V AbrH$S>rb AmH$S>odmarZwgma, ’$moãg© 2014 Zwgma, 40 AãO S>m°bg©Mr g§nÎmr Am{U

60,500 H$m‘Jmam§À¶m dH©$’$mog©ggh Jm¡V‘ AXmZr ho ^maVmVrb 11 ì¶m gdm©V lr‘§V ì¶º$s

AmhoV.

i) darb Ho$g ñQ>S>rMm gmam§e ñnï> H$am.

ii) darb Ho$g ñQ>S>rMm H$m¶ ~moY ¿¶mdm.


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Q1) Attempt any five [5×2=10]

a) Define Organizational Behaviour.

b) What is an ethical dilemma?

c) Define Self - esteem.

d) What do you mean by organizational design?

e) Define the term ‘Motivation’.

f) Define the term ‘Conflict’.

g) Define the term ‘Stress’.

Q2) Attempt any four [4×5=20]

a) Differentiate between introvert and extrovert personalities.

b) What are the steps involved in the process of organizational structure and
design?

c) Write a short note on job satisfaction.

d) Write a short note on Scientific Management.

e) Write a short note on Total Quality Management.

f) What are some of the challenges faced by organizations with a diverse
workforce?
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Q3) Attempt any four [4×5=20]
a) Mention some examples of negative motivators.
b) What are the assumptions and characteristics of theory ‘Z’ of motivation?
c) Write a short note on emotional Intelligence.
d) List the conditions essential for evolving a group into team.
e) Mention the reasons for formation of groups.
f) What do you mean by ‘Team Building’? Explain importance of team

building.

Q4) Attempt any two [2×10=20]
a) Examine the role of information technology in organizations.
b) Describe the different types of cultures in an organization.
c) Explain the characteristics and process of motivation with the help of

examples.
d) Solve the following case.

Mr. Suhas was working as a Senior Production Manager in OB Ltd.
Due to slowdown, his company declared layoff, due to which he had to
be away from his present job. He got another job in a similar company
which was at a distance of 40 km from the present workplace. However,
the salary offered was much below his present compensation.

After one year hence he was again invited to resume his duties by
his former employer. But, he refused to rejoin the earlier company and
preferred to be with the newly joined organization. In an informal discussion
with him, he justified his decision on the following grounds.
i) Less interference by the immediate supervisor in routine work.
ii) Extreme co-operation by the employer.
iii) Fair and just treatment.

iv) Opportunity to grow with the organization.


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Total No. of Questions : 4]

[6036]-SODL-2017
S.Y. M.Com.

214 : ORGANIZATIONAL BEHAVIOUR AND CASE STUDIES IN
BUSINESS ADMINISTRATION

(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) g§KQ>ZmË‘H$ dV©ZmMr ì¶m»¶m gm§Jm.

~) Z¡{VH$ Xþ{dYm åhUOo H$m¶?

H$) "AmË‘gÝ‘mZ' Mr ì¶m»¶m gm§Jm.

S>) g§KQ>ZmË‘H$ aMZm åhUOo H$m¶?

B) "àoaUm' eãXmMr ì¶m»¶m H$am.

’$) "g§Kf©' ¶m eãXmMr ì¶m»¶m H$am.

¶) "VUmd' ¶m eãXmMr ì¶m»¶m H$am.

à.à.à.à.à.2) H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) "A§V‘w©Ir' Am{U "~{h‘w©Ir' ì¶{º$‘Îdm§‘Yrb ’$aH$ ñnï> H$am.

~) g§KQ>ZmË‘H$ aMZm Am{U AmamIS>m à{H«$¶oV H$moUVo MaU g‘m{dï> AmhoV?

H$) Q>rn {bhm : ZmoH$arVrb g‘mYmZ.

S>) Q>rn {bhm : d¡km{ZH$ ì¶dñWmnZ.

B) Q>rn {bhm : EHw$U JwUdÎmm ì¶dñWmnZ.

’$) d¡{dÜ¶nyU© H$m¶©~b Agboë¶m g§ñWm§g‘moarb H$mhr AmìhmZo H$moUVr AmhoV?

P4528

m
unote

s.i
n



4[6036]-SODL-2017

à.à.à.à.à.3) H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) ZH$mamË‘H$ àoaH$m§Mr H$mhr CXmhaUo gm§Jm.

~) no«aUm Z {gÕm§VmMr J¥{hVHo$ Am{U d¡{eï>ço H$m¶ AmhoV?

H$) Q>rn {bhm : ^md{ZH$ ~w{Õ‘Îmm

S>) JQ>mbm g§KmV {dH${gV H$aÊ¶mgmR>r Amdí¶H$ AQ>tMr ¶mXr H$am.

B) JQ> V¶ma H$aÊ¶mMr H$maUo gm§Jm.

’$) g§K ~m§YUr åhUOo H$m¶? g§K ~m§YUrMo ‘hÎd ñnï> H$am.

à.à.à.à.à.4) H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) g§ñWm‘Ü¶o ‘m{hVr V§ÌkmZmMr ŷ{‘H$m ñnï> H$am.

~) g§ñWoVrb {d{dY àH$maÀ¶m g§ñH¥$VtMo dU©Z H$am.

H$) A{^àoaUoMr d¡{eï>ço Am{U à{H«$¶m CXmhaUm§gh ñnï> H$am.

S>) Imbr {Xbobr Ho$g gmoS>dm.

Amo.~r.{b{‘Q>oS> ¶m CÚmoJg‘whm‘Ü¶o lr. gwhmg ho d[að> CËnmXZ ì¶dñWmnH$ ¶m nXmda H$m‘
H$arV hmoVo. Am¡Úmo{JH$ ‘§Xr‘wio CËnmXZ H$‘r Pmë¶mZo H§$nZrZo Q>mio~§Xr Omhra Ho$br Ë¶m‘wio gwhmg ¶m§Zm
Amnbr ZmoH$ar J‘dmdr bmJbr. nmR>rer AZŵ d Agë¶mZo Ë¶m§Zm bJoMM Xþgè¶m H§$nZr‘Ü¶o ZmoH$ar
{‘imbr. na§Vw Vr H§$nZr gw‘mao 40 {H$‘r Xÿa hmoVr d doVZ XoIrb gÜ¶mnojm ~aoM H$‘r hmoVo.

gw‘mao EH$ dfm©Z§Va gwhmg ¶m§Zm nyduÀ¶m H§$nZrZo nyduÀ¶mM nXmda ê$Ow hmoÊ¶mMr {dZ§Vr Ho$br.
na§Vw, gwhmg ¶m§Zr ZH$ma {Xbm. Ë¶m§À¶mer AZm¡nMm[aH$ MMm© Ho$br AgVm Ë¶m§Zr Imbrb à{V{H«$¶m
{Xë¶m.

i) d[að>m§H$adr H$‘rVH$‘r hñVjon, {ZU©¶ ñdmV§Í¶.

ii) H$‘mbrMo ghH$m¶©.

iii) ¶mo½¶ d Ý¶m¶ dmJUyH$

iv) g§KQ>ZoÀ¶m dmT>r~amo~aM ñdV:À¶m dmT>rg dmd.


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Q1) Attempt any five out of seven from the following. [5×2=10]

a) What is dollarization?

b) What is mean by Euro Bond?

c) Features of the IBRD (any two).

d) What is mean by KYC Norms?

e) What is mean by Personal banking?

f) When the international finance corporation (IFC) was established?

g) What is mean by International Monetary System?

Q2) Attempt any four out of six from the following. [4×5=20]

a) Write a note on American Depository Receipts.

b) Differentiate between convertible and non-convertible currency.

c) Explain the euro-money market instruments.

d) How does one send and receive money through Western Union Money
Transfer?

e) Explain the types exchange rate system.

f) State the developmental activities of the IFC.
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Q3) Attempt any four out of six from the following. [4×5=20]

a) Describe the role of depository.

b) Briefly explain the SWIFT mechanism.

c) Write a note on Global Depository Receipts.

d) Discuss the benefits and risks involved in foreign bonds.

e) What are the major types of foreign bonds found in practice?

f) Discuss the origin of the IMF.

Q4) Attempt any two out of four from the following. [2×10=20]

a) Describe the role of the World Bank in international development.

b) Explain the five different market mechanisms for establishing exchange
rates.

c) Explain the role of RBI in managing foreign banks in India in terms of
capital requirement, entry norms and other factors.

d) Discuss the advantages and disadvantages of the floating rate system.


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Total No. of Questions : 4]

[6036]-SODL-2018

S.Y. M.Com.
216 : INTERNATIONAL FINANCE AND CASE STUDIES

(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àý gmoS>dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àým§Mo nyU© JwU Xe©dVmV.

à.à.à.à.à.1) Imbrb àým§n¡H$s H$moUVohr nmM àý gmoS>dm. [5×2=10]

A) S>m°babm¶OogZ åhUOo H$m¶?

~) ¶wamon amoIo åhUOo H$m¶?

H$) OmJ{VH$ nyU© {Z‘m©U Am{U {dH$mg ~±Ho$Mr H$moUVohr XmoZ d¡{eï>ç gm§Jm.

S>) Ho$dm¶gr {Z¶‘mMm AW© gm§Jm.

B) d¡¶{º$H$ ~±qH$J åhUOo H$m¶?

’$) Am§Vaamï´>r¶ {dÎm ‘hm‘§S>imMr ñWmnZm H|$ìhm Pmbr?

¶) Am§Vaamï´>r¶ MbZ àUmbr åhUOo H$m¶?

à.à.à.à.à.2) Imbrb ghm àým§ n¡H$s H$moUË¶mhr Mma àým§Mr CÎmao Úm. [4×5=20]

A) A‘o[aH$Z R>od nmdVr Mr Q>rn Úm.

~) n[adV©Zr¶ Am{U An[adV©Zr¶ MbZ ¶mVrb ’$aH$ ñnï> H$am.

H$) ¶wamo MbZ ~mOmamVrb {d{dY gmYZo gm§Jm.

S>) doñQ>Z© ¶w{Z¶Z ‘Zr Q´>mÝg’$aÛmao n¡go H$go nmR>dm¶Mo Am{U àmá H$am¶Mo.

B) {d{Z‘¶ Xa àUmbrMo àH$ma ñnï> H$am.

’$) Am§Vaamï´>r¶ {dÎm g§ñWm§Mr {dH$mgmË‘H$ H$m¶© ñnï> H$am.

P4529
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à.à.à.à.à.3) Imbrb ghm àým§ n¡H$s Mma àým§Mr CÎmao Úm. [4×5=20]

A) {S>nm°{PQ>ar Mr ŷ{‘H$m ñnï> H$am.

~) pñdâQ> (SWIFT) ¶§ÌUoMo ñnï>rH$aU Úm.

H$) OmJ{VH$ R>od nmdVr Mr Q>rn Úm.

S>) {dXoe amoI Ë¶mVrb YmoHo$ Am{U bm^ ñnï> H$am.

B) ì¶dhmam§‘Ü¶o AmT>iUmao {dXoer amo»¶m§Mr à‘wI àH$ma gm§Jm.

’$) OmJ{VH$ ZmUo{ZYr Mm CJ‘ ¶mMr MMm© H$am.

à.à.à.à.à.4) Imbrb Mma àým§ n¡H$s XmoZ àým§Mr CÎmao Úm. [2×10=20]

A) OmJ{VH$ {dH$mgmVrb OmJ{VH$ ~±Ho$Mr ŷ{‘H$m ñnï> H$am.

~) {d{Z‘¶ Xa {Z{üVrÀ¶m nmM doJdoJù¶m à{H«$¶m gm§Jm.

H$) {dXoer ~±H$m§Mr ñWmnZm ̂ m§S>db Am{U BVa H$m¶© ¶m~m~V [aPd© ~±H$ Am°’$ B§{S>¶mMr ̂ y{‘H$m ñnï>
H$am.

S>) Vab {d{Z‘¶XamMr JwU Am{U Xmof g{dñVa ñnï> H$am.


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Q1) Attempt any five out of seven from the following. [5×2=10]
a) Define Marketing Research.
b) What is Cluster Analysis?
c) What are the 7 P’s in the marketing mix?
d) What is Copy Testing?
e) What is the significance of Ethics in Marketing Research?
f) What is Market Information?
g) Name two source of collecting secondary data in marketing research.

Q2) Attempt any four out of six from the following. [4×5=20]
a) What is the role of marketing research in influencing the marketing mix

(7 P’s)?
b) What is Marketing Decision Support System? Explain the characteristics

of a Marketing Decision Support System.
c) What are the steps involved in the research process in marketing

research?
d) What is primary and secondary data from internet?
e) How does cluster analysis help in identifying market segments in

marketing research?
f) Explain the difference between Industrial Goods Marketing Research and

Consumer Goods Marketing Research.

Q3) Attempt any four out of six from the following. [4×5=20]
a) Explain the key components of the marketing research process.
b) Write a note on Multi-dimensional Scaling.
c) Discuss the significance of ethical considerations in marketing research.
d) Explain Web based Market Research methods.
e) Describe the advantages and disadvantages of web-based marketing

research.
f) Explain the audit of a Retail business.
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Q4) Attempt any two out of four from the following. [2×10=20]
a) Explain the role of marketing research in understanding consumer

behavior and how it helps in making marketing decisions.
b) What is advertising Research? Explain the importance of Advertising

Research and write the factors affecting Advertising Research.
c) Describe the meaning and importance of market information.
d) Case Study:

Bank Account
One reputed private commercial bank has planned to expand its

business. For this, the management of the bank intends to attract
customers from different social strata and groups and thereby open new
accounts. Bank has decided to implement a pilot project for this. This
project will be implemented in selected villages in rural areas of Pune
district.

According to the management of the bank, after collecting
preliminary and necessary information about the persons whom the bank
wants to open their  account with the bank, the management has to
decide how to implement the various schemes of the bank. Considering
the above, Mr. Hemant Kumar has been instructed to conduct a survey
on the income, savings and investements habits as well as requirements
of consumers in rural Pune. What information is needed more about rural
consumers and citizens such as through which means they earn income,
their various occupations, their income and soical background as well as
their attitude towards savings and whether or not they are eager to open
their savings account.
Considering the above information in mind please give suitable
advice to Mr. Hemant Kumar regarding the following questions.
i) As a Commerce researcher, you will advise Mr. Hemant Kumar on

what research tools or techniques to use to collect information on
investment saving habits of investors, citizens in Pune rural areas.

ii) Research tools will be used by Mr. Hemant Kumar. Through that,
what kind of information they should collect, to get that
information, they should study what kind of citizens of Pune rural
area, what should be their social, economic and cultural background.


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P4586

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]
A) {dnUZ g§emoYZ n[a^m{fV H$am.
~) g‘yh {díbofU åhUOo H$m¶?
H$) {dnUZ {‘lUmV 7 nr H$moUVo?
S>) ‘OHy$a MmMUr åhUOo H$m¶?
B) {dnUZ g§emoYZmV Z¡{VH$VoMo ‘hÎd H$m¶ Amho?
’$) ~mOma ‘m{hVr H$m¶ AgVo?
¶) {dnUZ g§emoYZmV Xþæ¶‘ ‘m{hVr Jmoim H$aÊ¶mÀ¶m XmoZ ómoVm§Mr Zmdo gm§Jm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]
A) {dnUZ {‘lUmda (7 nr) à^md Q>mH$Ê¶mV {dnUZ g§emoYZmMr ŷ{‘H$m H$m¶ Amho?
~) {dnUZ {ZU©¶ nmqR>~m ì¶dñWm åhUOo H$m¶? {dnUZ {ZU©¶ nmqR>~m ì¶dñWoMr d¡{eï>²¶o ñnï>

H$am.
H$) {dnUZ g§emoYZmVrb g§emoYZ à{H«$¶oV H$moUVo Q>ßno g‘m{dï> AmhoV?
S>) B§Q>aZoQ> Ûmao àmW{‘H$ d Xþæ¶‘ ‘m{hVr {‘i{dUo åhUOo H$m¶?
B) ³bñQ>a {díbofU {dnUZ g§emoYZmVrb ~mOma {d^mJ AmoiIÊ¶mg H$er ‘XV H$aVo?
’$) Am¡Úmo{JH$ dñVy {dnUZ g§emoYZ Am{U J«mhH$mon¶moJr dñVy {dnUZ g§emoYZ ¶mVrb ’$aH$ ñnï>

H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]
A) {dnUZ g§emoYZ à{H«$¶oVrb à‘wI KQ>H$ g‘OmdyZ gm§Jm.
~) ‘~hþAm¶m‘r ‘moOUr’ ¶mda Q>rn {bhm.
H$) {dnUZ g§emoYZmV Z¡{VH$ {dMmam§À¶m ‘hÎdmda MMm© H$am.
S>) do~ AmYm[aV ~mOma g§emoYZ nÕVr ñnï> H$am.
B) do~ AmYm[aV {dnUZ g§emoYZmMo ’$m¶Xo Am{U VmoQ>o dU©Z H$am.
’$) {H$aH$moi {dH«$s ì¶dgm¶mMo boImnarjU ñnï> H$am.
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à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) J«mhH$ dV©Z g‘OyZ KoÊ¶mgmR>r {dnUZ g§emoYZmMr ^y{‘H$m ñnï> H$am Am{U {dnUZ {ZU©¶
KoÊ¶mg Vo H$er ‘XV H$aVo?

~) Om{hamV g§emoYZ åhUOo H$m¶? Om{hamV g§emoYZmMo ‘hÎd ñnï> H$ê$Z Om{hamV g§emoYZmda
n[aUm‘ H$aUmao KQ>H$ {bhm.

H$) ~mOmanoR>oÀ¶m ‘m{hVrMm AW© Am{U ‘hÎd gm§Jm.

S>) Ho$g ñQ>S>r…Ho$g ñQ>S>r…Ho$g ñQ>S>r…Ho$g ñQ>S>r…Ho$g ñQ>S>r…

~±H$ ImVo~±H$ ImVo~±H$ ImVo~±H$ ImVo~±H$ ImVo

EH$m à{WV¶e ImgJr H$‘{e©Ab ~±Ho$Zo Amnë¶m ì¶dgm¶mMm {dñVma H$aÊ¶mMr ¶moOZm
AmIbr Amho. ¶mH$[aVm {d{dY gm‘m{OH$ ñVam§darb Am{U JQ>m§Vrb J«mhH$m§Zm AmH${f©V H$aUo Am{U
Ë¶mÛmao ZdrZ ImVr CKS>Ê¶mV ¶mdr, Agm à¶ËZ H$aÊ¶mMm ~±Ho$À¶m ì¶dñWmnZmMm ‘mZg Amho. ~±Ho$Zo
¶mgmR>r EH$ nm¶bQ> àH$ën am~{dÊ¶mMo R>a{dbo Amho. hm àH$ën nwUo {OëømVrb J«m‘rU ^mJmVrb
{ZdS>H$ Jmdm§‘Ü¶o am~{dÊ¶mV ¶oUma Amho.

~±Ho$À¶m ì¶dñWmnZmÀ¶m åhUÊ¶mZwgma, Á¶m ì¶º$s¨Zr ~±Ho$V Amnbo ImVo CKS>mdo Ago
~±Ho$bm dmQ>Vo, Ë¶m{df¶rMr EH$ àmW{‘H$ Am{U Amdí¶H$ ‘m{hVr g§H${bV Ho$ë¶mZ§Va ~±Ho$À¶m {d{dY
¶moOZm§Mo àdV©Z H$go H$amdo, ¶m{df¶r ì¶dñWmnZmbm {ZU©¶ ¿¶m¶Mm Amho. darb ~m~ bjmV KoD$Z lr.
ho‘§V Hw$‘ma ¶m§Zm nwUo J«m‘rU ^mJmVrb J«mhH$m§À¶m CËnÞ ~MV Am{U Jw§VdUwH$s{df¶H$ gd¶r VgoM
Amdí¶H$Vm ¶m{df¶rMo gd}jU H$aÊ¶mMr gyMZm {Xbr Amho. J«m‘rU ^mJmVrb J«mhH$ Am{U ZmJ[aH$
AemàH$mao H$moUË¶m H$moUË¶m ‘mÜ¶‘mVyZ CËnÞ àmá H$aVmV, Ë¶m§Mo {d{dY ì¶dgm¶, Ë¶m§Mr CËnÞmMr
Am{U gm‘m{OH$ nmíd©̂ y‘r VgoM ~MVr {df¶r Ë¶m§Mr ŷ{‘H$m Am{U Vo Amnbo ~MV ImVo CKS>Ê¶mg
CËgwH$ AmhoV qH$dm H$go ¶m{df¶r H$moUVr ‘m{hVr A{YH$ Amdí¶H$ dmQ>Vo.

darb ~m~ bjmV KoD$Z lr. ho‘§V Hw$‘ma ¶m§Zm Imbrb àíZm§{df¶r ¶mo½¶ g„m Úm.darb ~m~ bjmV KoD$Z lr. ho‘§V Hw$‘ma ¶m§Zm Imbrb àíZm§{df¶r ¶mo½¶ g„m Úm.darb ~m~ bjmV KoD$Z lr. ho‘§V Hw$‘ma ¶m§Zm Imbrb àíZm§{df¶r ¶mo½¶ g„m Úm.darb ~m~ bjmV KoD$Z lr. ho‘§V Hw$‘ma ¶m§Zm Imbrb àíZm§{df¶r ¶mo½¶ g„m Úm.darb ~m~ bjmV KoD$Z lr. ho‘§V Hw$‘ma ¶m§Zm Imbrb àíZm§{df¶r ¶mo½¶ g„m Úm.

i) dm{UÁ¶ g§emoYH$ åhUyZ AmnU lr. ho‘§V Hw$‘ma ¶m§Zm nwUo J«m‘rU ^mJmVrb Jw§VdUyH$Xmam§À¶m,
ZmJ[aH$m§À¶m Jw§VdUyH$ ~MV{df¶H$ gd¶tMr ‘m{hVr g§H${bV H$aÊ¶mgmR>r H$moUË¶m g§emoYZ
gmYZm§Mm AWdm V§ÌmMm Cn¶moJ H$aÊ¶mMm g„m Úmb?

ii) g§emoYZ gmYZm§Mm lr. ho‘§V Hw$‘ma Cn¶moJ H$aUma AmhoV. Ë¶m ‘mÜ¶‘mVyZ Ë¶m§Zr H$moUË¶m ñdê$nmMr
‘m{hVr g§H${bV Ho$br nm{hOo, Vr ‘m{hVr àmá H$aÊ¶mgmR>r Ë¶m§Zr nwUo J«m‘rU ^mJmVrb H$moUË¶m
àH$maÀ¶m ZmJ[aH$m§Mo AÜ¶¶Z Ho$bo nm{hOo, Ë¶m§Mr gm‘m{OH$, Am{W©H$ d gm§ñH¥${VH$ nmíd©̂ y‘r
H$er Agmdr, ¶m{df¶rMr Ë¶m§Zm ‘mJ©Xe©Z H$amdo.


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